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State" with re'asqxsl‘s;whether the following statements are
" true or false: W
(a) Accumu}fted Deprecnatlon is a sum of cash being
accumulated for the replacement of fixed assets.

: (b) Under stock and debtor system branch account is a
, -Homma‘l. account.
(c) Legal fees paid to acquire a property is capital

expenditure,
P.T.O.
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(d) First In First Qut (FIFO) method of inventory Valuati,
is most suitable under inflationary conditiopg

(e) A business entity can keep its accounts on aceryy| by
of accounting.

(a)mwﬁiﬁ%‘gﬁwq?%faﬁaﬁaww
¥ uE W IR T |

(b) T 3T 9T WOTCR & (=i, AT WAT TF iy
T §

(o) TERT B W R B o R w g T g
=g B |

@) TR & Rafy & o TR T W a1
(FIFO) Tl Jedieh T Tad SUG| AU ¥ |

(e) UF HUR THE, QDT & IUTST AR T HO @
@ EA © | . :

" 2. (a) Briefly explain any four needs of IFRS.

[FRS@! TR ST&Ral &1 |ier o qosied |

(b) Th’éjﬂgnt‘: and Machinery Account of a Company h
a debit balance of Rs 1,47,390 on April 1, 2006. Tt
company was incorporated in April 2003 and has be¢
following the practice of charging full year.l
depreciation every year on Diminishing Balance syste!.1
@ 15% p.a. In 2006 it was, however, decided to chants
th_e method from Diminishing Balance to Straight Lir ¢
with retrospective effect from April 2003 and to gi's
effect to the change while preparing the final accoun
for the. y.ear ending 3]s March, 2007, the rate (.
depreciation remaining same as before. In 2006—0;

7761 5
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new machinery was purchased at cost of 50,000. All
the other machines were acquired in 2003-04. Show
~ the Plant and Machinery Account from 2003-04 to
2006-07.
ST 1, 2006 N Ueh FHEO @ G G A @i 4
AT AT 1,47,390 To 7| TE FAAT YA, 2003 Hf
ffa &8 o ofR s o gt W 15% 9 99
B WY gl af JeaeE @l 81 9 2006 H, U
2003 ¥ QdeATdt yuTg ¥, TEEE 99 ey @ e @
¥ qIa T gl fohar T iR 39 uRad= @ 31 A,
92007 T GHIH B il a9 & oW @l H qdnd
XA T T foRar T | S d e e &
TE & T 2006-07 F, 50,000 %Y AT I 7 A GO
T2 99 @i 99w 2008-04 F o wE 4| 200304 F
2006-07 Tk T FIT AR A WAT GRS 8
Or (31a)

(c)' What are the objectives of Inventory Management?

j

TN W & LT T €

2

;  (d) The following are the details of material of Sai Mills:

ars ey & armlt &7 fewer e ¥

.1.2009  Opening Stock
[.1.2009 Purchases

?5.1.2009 Issued for consumption
1.2.2009 Purchases

i'5 2.2009 Issued for Consumption
0, 2.2009 Issued for Consumpnon
;3 2009 Purclw;e‘;

5 3.2009 Issued for Lonqumplloll

7
‘61 A

100 units @ Rs 25 per unit
200 units @ Rs 30 per unit
100 units
400 units @ Rs 40 per unit
200 units
200 units
300 units @ Rs S0 per unit
200 units

P.T.0.
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Find out the cost of closing stock as on 31.3 2009 accordip,
to:

31.3.2009 1 St Rk B AT H, T B ATEW, gy
MR :—

(1) First in first out basis

BE 5T GRS AR

(11) Weighted average price basis, using perpetual inventory

system.
AT AT O BT S FQ g, WA St g
JATYR | ity 8

3. From the following Trial Balance of a trader on March 31%,
2005, prepare Trading and Profit and Loss Account for
the year ending 31% March, 2005 and Balance Sheet as at

that date after giving effect to the undermentloned
adjustments:

qaamwr&%zlqﬁzoosa%ﬁwﬁslqﬁf 2005 FY
mwwwﬁrm@ﬁgﬁmﬁaﬂﬁﬁm

qaa%vlf@aﬂq@m%waﬁwﬁrﬁr?mwwaﬂ
AR T —

Debit Balances Amount  Credit Balances Amount

Rs. ‘ . ' Rs.
Drawings - 6,000 Bank Overdraft 25,000
Wages 15,500  Interest on Investment 5,800
Stock 12,300  Bills Payable 4,600
Loan to X 4,000 Interest on loan to X 320
Rent 5000 Capital 1,00,000
General Expenses 1,480  Reserve for bad and |
Investments 60,000  doubtful debts 250
Purchases 1,60,000 Sales 2,30,000
7761
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Freight Charges 2,100  Sundry Creditors 12,590
Goodwill 40,000

Rills Receivable 6,200

Rate and Taxes 1,800

Sales Returmn 2,100

Insurance » 900

Cash and Bank Balance 3,700

Postage and Telegram 3,800

Land and Buildings 25,000

Plant and Machin_ery 10,000

Sundry Debtors 16,500

Packing Charges 400

Bad Debts . - 1,280

Total 3,78,560 ~ 3,78,560
Adjustments:

LEIRIGEE >,

(a) Closing Stock as on 31.3.2005 Rs 16,000. -
31.3.2005 I Af~aq ik Fo 16,000

(b) Goods worth Rs 700 were sent on 25.3.2005 as “Sale
on Approval basis” for Rs 800 and the approval‘wés
not received before the end of the month.
700 o TN T WA 25.3.2005 FI 800 To B AT
R Ry & SmuR W fREy W Sen w, S
g Te & oF d W Tl g% T

(c) 20% of the Goodwill is to be written off.
qEUTAT T 20% SAUTEd B ¥ |

(d) Further bad debts were estimated at Rs 350. Increase
reserve for bad debts to Rs 1,500.

7761 4 5 i P.T.O.
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< 0T 350 Bo b AN AT & | AT T & fipy
1,500 G0 STRENT qgT GISTd |
(e) Depreciate Land and Building by 3% and Plant an(

Machinery by 10%.

ufty o) W B IR 3% Q‘cTEEF{@WTHﬂTHQ’ﬁqﬁ
& e 10% T I |

(f) Goods worth Rs 800 were distributed as free samples,

TS |

Or (3rEEn)
The following is the Receipts and Payments Account of a

Cultural Society for the year ended on 31 December, 2014:

31 R, 2014#Wﬁ%%ﬁwmmi

B T R I @ ey 23—

Receipts Rs.
CashinhandonJan1 1,500
Subscription:
2013 200
2014 16,200
2015 - 250
Entertainment Proceeds 2,000
Entrance Fees 670
Interest of securities 480
Sale of Old Chairs 120
(Book value : Nil)
| 21,420

You are required to prepare income and
account of cultural society

2014 and a Balance sheet

the following:
7761

Payments Rs.
Bank Overdraft Jan 3,100
Investments in securities 3,000
Furmniture 1,450
Salary 6,200 !
Printing and Stationery 890
Entertainment Expenses 1,710
Sundry Expenses 1,420
Balance on 31.12.2014
Cash 550
Bank 3,100
21,420
ex pendlture

O
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for the year ended 31 Decemben
as on the date after considerin




Bt et ear o wad g ang 5wy, 9014 %) quper o

&, Hf’(ﬂifﬁ?ﬁ qvn & oy ey o S AT AT AN

(i)  The society has 1,800 members cach paying annual
fees of Rs 10. Subscriptions amounting to Rs 90 were
still in arrears for the year 2013.
qear # 1,800 W ¥ S wfeerd 10 Bo gen o
A &1 a9 2013 a?ra"wn?rtrfwro 90 AT A
TEHAT 3 | |

(ii)  Stock of Stationery on 31 December, 2013 was Rs
125 and on 31 December, Rs 87.
31 fea=R 2013 & Ryl &1 €% 125 o a1 R
31 fe@=r %t 87 Bo |

(111) Entrance fees gre to be capitalized.
JdST Ik I oliehd fohdl ST & |

(iv) Salary of Rs 550 for December 2014 is outstanding.
fegma 2014 & o4 550 o HT AT GHEAT & |

(v) Expenses outstanding on 31 December, 2013 Rs 132.
31 |, 2013 & gHAT @ 132 o

(vi) The society had paid Rs 500 in 2013 for telephone
charge.s, out of which Rs 125 related to the year 2014.
HEaT 7 2013 F 500 To B gk B & &, Frgd
T 125 Ho T 2014 & g &

(vii) On 31 December, 2013 premises stood iri the books
at Rs 24,500 and investments at Rs 6500.

31 fegey, 2013 @ @Al # GREX & Bo 24,500 &
g AT o 6,500 & I |

7 P.'I‘.Q.
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4.

(viii) Depreciate fixed assets by 5% pa. ‘ |
srer ARy @ 5% Ul add @ ar @ wifga Aiforn

(a) Write four differences between Instalments System and
Hire Purchase system. ‘
mmq@%aﬁiﬁﬁwwﬁﬁwwﬁﬁmz
(b) BR Ltd purchased three trucks costing Rs 1,00,000!}
each from Hindustan Auto Ltd on 1.1.2004 on hire
purchase system. The térms were: Payment on delivery

Rs 25,000 for each truck, and balance of the principa]
‘amount in 3 equal instalments plus interest at 15% pa

to be paid at the end of each year. BR Ltd. writes off
25% depreciation each year on the diminirshing balance
method. BR Ltd paid the instalments due on 31.12.2004
and 31.12.2005 but could not pay the final instalment.
Hindustan Auto Ltd repossessed two trucks adjusting

values against the amount due. The repossession was
done on 31.12.2006 on the basis of 40%

depreciation
on the diminishing balance method. You

are required
Auto Lud afc

31.12.2006.

B.R. Lid. 7 formar o wafy @ R Gﬂé’tﬁ‘-{oﬁé
1,00,000 Fo ¥t % g F 3 7 1.1.2004 @t @ﬁ%ﬁ
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AT A BT & ¢ 9 o g g stfteew
31.12.2006 & e 99 UGS W 40% YEH §
Teiichd HYh [hAT AT ST 81.12.2006 TF &
A=-3Al I TIMT §T B.R. Ltd. Tl J&Ihl § Fh @Il

aar e emer foro & @ ST R ) 8
. Or (3t | |
(c) What i1s Lease? State any-four advantages of lease.
T2l T BT 87 U & IR W Sad | 2

(d) Geeta Products sells goods on hire purchase system at
cost plus 50%. From the following particulars for the
year ending December 2013, prepare ledger accounts
on stock and debtor system: '

, _ Rs

January 1 Stock with H.P Customers .

: at selling price 27,000

- Stock at shop at cost | 54,000

e Instalments overdue 15,000
December 31 Cash received from -

customers . - 1,80,000

Goods repossessed ,
~ (Instalments due Rs 8,000) 1,500 '
Goods purchased during

the year e 1,80,000-
Stock in the shop at cost

~ (including repossessed) . 61,500

Instalments due g 27,000

ﬁmﬁ%mmﬁ‘m%aﬁgwﬁwmmq@ﬁa
o et ) Prefmad faen & R 2018 #®
g ad & fg W 9 SRR agh § s@E
TATTC: - |

776 I . ‘ . 9 P-T.O.
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Sad 1 T g W OUEd &

I i 27,000
AT W R H b ' 54,000
ﬁ'w fore . 15,000
REm 31 Wesd d I Ahs 1,80,000
(fhet evmar 8,000) 1,500
9 ¥ AT @ler ~1,80,000

IFM A WA W 'iH
(I SR F-frg A afeaq) 61,500
frer 3 27,000
5. Widespread Ltd. invoices goods to its branch at cost plus
20%. The branch sells goods for cash as wellés on credit.
The branch meets its expenses out of cash é'ollected from
its debtors and cash sales and remits the balance of cash to
“head office after withﬁolding Rs 10,000 necessary for

meeting immediate requirements of cash. On 31St March,

2005 the assets at the branch were as follows:

msgagﬁfom:ﬁswzﬁamwm%ﬁhmw
ﬁfﬁa?ﬁ&ﬁ%wmwa%mammﬁm% |
¥ Al 3 R o fol R |
T I o R 3w e qe
ST F R 10,000 ®o U & ugerq, Qe &
t‘rmg@sen@aé‘rﬁaﬁmmm%wlmézoosaﬁsm

7761
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Rs.

Cash in hand (BT UHhe) 10,000
Trade Debtors (FMRE &&R) 3,84,000
Stock at invoice price (§I57h T& W wik)  10,80,000
Furniture and fittings (Wex @ {hie™) 5,00,000

During the accounting year ended 31St March, 2006 the
invoice price of the goods dispatched by the head office to
the branch amounted to Rs 132,00,000. Out of the goods
received by it, the branch sent back to ,head_ office goods
invoiced at Rs 72,000. Other transactions at the branch
during the year were as follows: ’

31 7T 2006 T T forer s & fordr ¥ anftew & A
2 Vo7 T A F S g 1,32,000 o AT | T Hie
§ & qrE T T QT & 72,000 To & AW AMTH WA
fgr| o & AT AT W A A T B

) Rs
Cash Sales (&g fahl) 97,00,000
Credit Sales (JUR {&hi) ' | 31,40,000

Cash collected by branch from credit customers 28,422,000

(SUR Wed ¥ JET ERT aGe TN TFS)
Returns by customers (T&H & ) 1,02,000

Discount allowed (3221 f2a1) £ 58,000
Bad debts written off (38 %7 srfataa foha) 37,000

Expenses paid by branch (qmar & R ™ wd) 8,42,000
on 1 January, 2006 the branch purchased new furniture

for Rs 1,00,000 for which péymené% were made by head
office by means of a cheque. On 31" March, 2006, branch

6,000 were outstanding and cash in hand was

expenses Rs
preciation @ 16%

again 10,000. Furniture is subject to de
p.a.

7761 1 . P.T.O.
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| it 2006 @ 9@l q 10,000 o H AT 7,]&;:[
Forrer ST A AT A 1 AT 31 9T 2006 7
qrET @d 6,000 Fo FEAT 4 ST BTG H 0w 10,000 %,
o7 | WEET 9 16% Ui A9 YR @A e 2

Prepare Branch account in the books of Head office for

st

the year ended 31 March, 2006.

T qan @ fhardl # 31 |7 2006 FF qHrA 2 At 7
& foq gmar @.r g ey | | | 10

Or ("R’E!?ﬂ') |

Garima Stores of Delhi operates a retail branch at Chennai,
The head office makes all the purchases and the branch is
charged at cost plus 50%. All cash received by the Chennai
branch is remitted to Delhi. Branch expenses are paid by
the branch out of an imprest account which is reimbursed
by Delhi H.O. monthly. The branch keeps a sales ledger
“and certain essential subsidiary books, but otherwise all
branch transactions are recorded at Delhi. On 1-1-2013
stock in trade at the branch at selling price amounted to Rs

6,000 and debtors were Rs 4.000. During the year ended

31-12-2013 the following branch transactions were made:

fawelt & R w4 & v g s e
%lw@ﬂz@g@wmaﬁmﬁ%aﬁtw%
?:mrafrsso% TNSHL T T | A I T AT
TS ot &1 O Rear st %1 o g e @ @
a_ﬁsﬁwﬁ%nﬁﬁﬁg@sn@mm@ﬁﬁ
mmm%nmﬁsmﬁﬁmaﬁaﬁ:@m
STAAE Helah q&ih @l ol ¥ quy gy S
%ﬁrﬁmﬁaﬁéﬁ%l.l.l.%waﬁaﬁ@ﬁmwﬁm
T 6,000 Fo &A1 R AR 4,000 o T ¥ 31.12.9013 3
T a9 % g & Frey dede .

7761 12
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Rs

Goods received from Delhi at selling price 15,000

(ﬁmwmﬁv—vﬁﬁw.mﬂ)

Cash sales (F&a fseht)
Goods returned to Delhi at selling price

(fepa @ W Rl ® AR A9H i)
Credit sales (less returns) (SUR fsfl, @M@ & 91@) 6,300
Authorized reduction in selling price of goods sold 150

:

(R o1 & fospd e WX SHTERT FHardl)
Cash received from debtors (&Rl & T qHhe) 4,800
Debtors written off as irrecoverable 200

RerRal S gEa @ )

Cash discount allowed to debtors
RFerl & T 92 f&an)

A consignment of goods dispatched to the branch on 28
December, 2013 with a selling price of Rs 180 was not
received until 5-1-2014 and had not been included in stock.
Closing stock at selling price was Rs 7,290. The expenses
relating to the branch for the year ended 31 Dec 2013
amounted to Rs 1,800. You are required to prepare Branch
Stock a/c, Branch Debtors a/c, Branch Adjustment a/c and
Branch Profit and Loss a/c maintained at Delhi under Stock
and Debtors system. Any stock unaccounted for is to be

6,900
300

- 150

regarded as normal wastage.

98.12.2013 &I 180 Fo @ TeEhd Ted YT SITET I HOQ It
5.1.2014aa;mﬁmﬂﬁ§anaﬂ1€mifﬂﬁﬁm
T | fsh e W I W 7,290 o B 81.12.2013
Fr gu af & frg gr@r & wafud @y 1,800 o &
AUE W qar ER OTe § fawd § eaitya et
e @, grEr 3R @], e WHiEe @ 3k

2761 13 P.T.O.
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STRET WT-B1RT @rar a=I=T & | @redl ffqﬁ'fﬁmnmqgﬁ,m
Wi qmr &fq qE S wedr ¢ |

[

6. Anurag, Bajaj and Prerna trade in partnership sharing Profiy
and losses in proportion of 3:2:1. They decide to disso]x,,e
the firm with effect from January 1, 2013 when the Firn,
Balance Sheet stood as follows:

SR, SISl ST IR Weerd H AR Hd ¥ @R
B 3:2:1 & U H Sied & 1 1 et 2013 ¥ F wef 3
ferere &t Fofg wd €1 98 R &1 w1 fRiger fe e

Liabilities Rs  Assets Rs
Capital Accounts: | Land and Buildings 80,000
~Anurag 54,000 Furniture and Fittings 12,000
Bajaj 40,000 Plant and Machinery 30,000
Prerna 25,000 1,19,000 Stock in Tréde - 13,&)0
General Reserve + 6,000 Sandry Debtors - 60,000
Sundry Creditors - 90,000 Investments 135,000

Bank Overdraft Cash and Bank
(unsecured) 30,600  Balance 10,000
2,45,000 245,000

The assets are being realized gradually. Alter meeting the
expenses of realization, the first instalment of realization
(including cash and bank balances) fetches Rs. 75,000 the
second Rs 32,000, the third R 60,000 and the fourth R¢
63,000. If distribution among partners is to be made aftef
each instalment of realization as far as possible, prepare !
statement showing the distributions to partners at each
instalment although the final results were not yet known
(Apply surplus capital method. )

7761 14
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et 2 e dR- & @ ¥ agE A & 9eE
qeeht s (e @R % 9w fremaw) & 75,000 To Fed
¥ gl § 32,000, FY F 60,000 ST AT A 63,000 afe
& o T B A e @ g R & S6 99 (e
wéﬂﬂﬂﬁﬁmﬁﬁﬁm%ﬂ‘raﬂwﬁﬁéﬁﬁzﬁr
FraRe SR | ST TROT S| T A 5T T R &
qsam_mrﬁawaﬂm%liaﬁanfﬁmﬁfﬁrmw
BT | | 10
 Or (srr) |
A, B and C were partners shariﬁg profits and losses in the
ratio or 3;2:_1. On 31St December, 2008, their Balance Sheet

was as follows:
A, B @7 C @9 &I & 3:2:1 % o § feER €1 31
frgeag 2008 ST go I T AT

Liabilities Rs. Assets . Rs.

~Sundry Creditors 30,000 Cash at Bank 9,500

~ Bills Payable 5,000 Stock 15,500

A's Loan 6,000 Sundry Debtors 32,000

Reserve Fund 12,000 Fumitwe 5,000

Profit & Loss Account 6,000 Plant 21,000
Capital Accounts: Drawings IAccount:

A | 20,000 A 4,000

B 15000 B 1,000

| ~ C's capital 6,000

6 - e |  PTO

Scanned with CamScah'h.er



7701

The firm was dissolved on that date. Stock realized 12,209
debtors 30,000 and furniture 4,200. Plant is taken over b;
A-at 18,000. A contingent liability for bills discounted
materialized to the extent of 600. Realization eXpenses,
amounted to 600. C is insolvent, but his private estate pami
1,900. Prepare Realization Account, Capital Account ar,_ﬁ
Bank Account. Apply Garner Vs Murray.

wﬁfﬁﬁtﬁﬁﬁﬁrﬁma‘rﬂml ®Idh ¥ 12,200 To fig
TR /30,000 SR TR F 4,200 1 A Y e ) 18,000,
o 3 R | Rl o e 1 & e oo g 3
600 To fhﬁ'n T =T 600 To R | C Sarferar %‘T{?\I
SEhT T SR 3 1,900 Bo 23y ey a:ﬂqq}ﬁqu

@H@W,iﬁmﬁ%mmml 1

il

e e AL

ety
I

S, L

8400
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[This question paper contains 4 printed pages]

| Your Roll No. S ssesseiescrsessssvsatsas
| S1. No. of Q. Paper : 55 H
= Unique Paper Code : 203382
. Name of the Course : B.Com.(Hons.)
': English
j Name of the PaperA : The Individual and
| | Society
| Semester e III
Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

(b) Attempt all questions in English language
only, exercising the available internal
choice.

| (c) Respect word limits where specified.

|

- 1. Answer any THREE of the following passages :
3x10=30

(i) Leaving behind nights of terror and fear
I rise
Into a daybreak that's wondrously clear
I rise
(a) Name the poem and the poet 2

P.T.Q.
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55

(b) What do the metaphors of, ‘night’ anq
‘daybreak’ imply ? )
(c) Critically comment on the meaning of
the lines. 6

(ii) Chastity had then, it has even now, a religioug
importance in a woman's life and has so
wrapped itself round with nerves and
instincts that to cut it free and bring it to
the light of the day demands courage of the
rarest. To have lived a free life in London in
the sixteenth century would have meant for
a woman who was poet and playwright, a

nervous stress and dilemma which might
have killed her.

(a) Identify the author and the eassay of
these lines. 2

(b What question is the writer investigating
in this essay ?

3
(c) Explain the plight of women described
in the lines above. S

(ii1) "The only path to the well passed that way-
how were they to get water ?

Who would come to draw water with a
tanner's corpse nearby"

(a) Identify the essay and its author.

2

(b) What is the 'way' referred to in the first
sentence ? 2

2
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(c) Why could the people not draw water from
o well with a tanner's corpse nearby ?
Do you think their complaint in the first
sentence is justified ? > 6
(iv) "If you could hear, at every jolt, the blood
Come gargling from the froth-corrupted
lungs, .
Bitter as the cud |
Of vile incurable sores on innocent tongues-

My friend, you would not tell with such‘high

zest
To children ardent for some desperate glory,
The old lie: Dulce et Decorum est

Pro Pat ria mori".

(i) Name the poem and the author. 2

(i) Whose lungs is the poet talking about
and what has damaged them ? 3

(iii) Explain: 'Dulce et decorum est/ pro
patria mori' and why the poet calls it a
lie ? 5

2. Answer any ONE of the following questioris in
about 750 words: 15

(A) Jotirao Phule saw education as the way to
overcome barriers created by caste. In Hira
Bansode's 'Bosom Friend' the Dalit friend
discovers that education cannot remove deep

rooted prejudices. Comment.
3 pP.T.O.
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OR

" analyse the difference between ¢,

(B) g;iggagﬁd thg bridegroom in Eunice D:,
Souza's 'Marriages are Made'. Wha}t is the
poet trying to tell us about the attitude of
Society towards women, through this poer, 5

3. Answer any ONE of the following questiong in

about 750 words: 15

(A) Explain how the dog caught in crossfire is
symbol of innocence trapped inside a cryg]
world in Manto's “The Dog Of Tetwal".

OR

(B) How does the poem "Dulce Et Decorum Est'
challenge the notion of patriotic war.

4. Write short notes on any three of the fbllowing in

about 250 words each.

Bag . _

(i) Uma’s "desire to write, challanges

~ established norms for women. Discuss with
reference to “The Exercise Book”.

(ii) The Bawas in “The Ghosts of Mrs. Gandhi”.
(iii) Explain how the Speaker in t oem
“Breaking Out” = onne P

oppression as

Sx3=15

(v) Ln the i;sson Blackout’, the American gir'
as a typical racist attitude t ung
man. Do you agree ? g 1,thg yo

4 100
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This question paper contains 18 printed pages. .

Your ROIl NO. wccvssrssosnsores
SI. .No. of Ques. Paper : 5450 H
Unique Paper Code : 241301
Name of Paper . Business Mathematics
Name of Course . B.Com. (Hons)
Semester : THK
Duration : 3 hours
Maximum Marks : 75

(Write your Roll No. on the top immediately
on receipt of this question paper. )

(swwv—w%ﬁa#eﬁmﬁ#n#ﬁmﬁ?ﬂww
GthWWI)

- NoTE :— Answers may be written either in English or in Hindi;
~ but the same medium should be used thrbughout
_‘ " the paper.
feaoft = s qoTg @7 GX et T R Rl U ST
% g e @i o @1 e T @ A
qmeY | '

Attempt-all questions. Marks are indicated against each question.
Attempt all parts of a question together.

It

oyt 2 g N S @ o G AP o &
mwvzi}mﬁwﬁwaﬁ?@a?mwa?ﬁm
Use of simple calculator is allowed.
Log and Annuity tables and Graph paper may be provided.

Turn over
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I. (@) An amount of Rs 80,000 is placed in three investments
at rates of 6%, 8% and 10% per annum respectively,
The total annual income is Rs 7,000. The income from
the first investment is Rs 400 more than the income
from second investment. Determine the amount of egch

investment.
80,000 Fo = T f FaAsT & wwwr: 6%, gy &
10% W STl 5 | F{@ AR S 7,000 GO BT Iy
N W e g PR 9 emg ¥ 400 wo e 72
o R @ R T @i

Or () .
A firmg produces three products Py, P,, and P, requiring
the mix-up of tm'ee materials M, M,, and M,. The per
unit requirement of each Rroduct for each material is a5

follows: :
T WA Py Py, Py SO AR S E R R
M,,MZ,M3'¢ﬂ=rqarsz%fi’r%rvrﬁaimamé€r%l
T T & Ry s S 2 s e
ECIE |

1 2

M, M
2 3
A=PR| 4 3
2 4

U Y
N » -

Using matrix notation, find:

ﬁiﬁzﬁra’l&mwmmmaﬁﬁm

5450 2
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-the net proﬁt of each company (separately earned profit

| plus share in profits of other compames) by using matnx

| algebra

WMH@?&WWS,@TSZ%I
Wm%waﬁﬁﬁwiaﬁwwﬁw
%I-H“E?ﬂmw@ﬁ?ﬁ%ﬁmw%

St S e &= A

H s, 05
H 0 - 80 60
Slt' 2 0 10
S 10 T 0
e B JEd 88 10 30

 gw w100,

t{f‘H 5, &R S, BT JUH: It e q R
42,000 %o, 52,000 FO J 82,000 Fo © ar tﬁ%m
'aﬁaﬂfﬁmmmmmmﬁaﬁw (geresa:
| aﬁawﬁﬂmmﬁ%mﬂﬁﬁwm)
| ’j‘fsﬂ?f I | - o 7
(c) W‘hat do you understand by unbounded solution to a
lineaf programming problem? How is it detected in
,sdlving an LPP grapﬁiéally and by using simplex
| tﬁethod?

o _ 5 Turn over
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Wz ST T & Rig omEe e g T 3
NEERRN LPP%WW&WEB@%%?M
R &1 W =@ @ 3 vewEr o &) 3
‘ o (s .3
What do you mean by unrestricted variable in lines,
programming? How do'we deal with such iraﬁabjes in

using simpﬁex method?

e s ¥ e TRad & o w

¥ Reciw R & wim s e 39 aRaRl o
TE DY W\"é‘ 37 © 3
2. (a) Obtain dual of the following linear programming
probiem: |
- Maximize £ =10x +12x, - 8x,
subject to |

Sx —3x, +2x, <48
3% +7x, + 6x, =65
X, X, 20

i W st woer @ 29 e BT
feree Hforg Z =10x, +12x, - 8x, '
e el

.Sx, ~3x, +2x, <48

3x, +7x, +6x, =65

X.X. =20 - e
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(i) Is the above solution feasible?
. T SNER W B
(i) - Is the above solution optirhal?
ERURCEUCH I O YR
. (ii) Is the above solution anboonded‘?-
| H S B oneRg ¥
(1v) Is the above solution degenerate? :
mmgaasamm%? SR
(v) Does the problem have multiple optlmal solut10ns‘7

- If yes, glve an alternate optunal solutlon

wm%m‘émvﬁ%wﬁraa’rm
AT & SAIET) |

(vi) What are the shadow prices of the three resources?

= Eﬁ=r TR 3 T B T &

| »(vn) Wthh of the: products is not bemg produced and
why? . Faa, |
ST @ IAqTET =ﬁ?r ﬁﬁar i) zsr g aﬁt
2T

- (viii) Wha_t is the objective function of this. problem?
T wgE & 9 W ww ¥

(ix) What arg the optimal values of the dual variables?
aer wfiafddl @ sweaw qw e ¥

9 Turn aver
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Or (3raei)
Given the following linear programming problem:
Minimize Z = 96x, + 40x, + 60x,

Bunject fo: “ 6x, +2x, + 5%, 22
8x, +x,+3x, 25
4x, +2x, +2x, 28

Xyg Hpy Xy 20

‘ﬁwﬁmmﬁmﬁnmﬁﬂé%
TG Z = 96x, + 40x, + 60x,
D e '

6x, +2x, +5.§c3 22
8x, +x,+3x, 25
4x +2x%, +2x, 28
. | Xy Xoy X3 20
‘(i) Write the dual to this problem.
W i R
(ii) Solve the dual problem.
BY qEET HEA AT
' (iii) Obtain the optimal solution to the primal problem.
WIS AT A e BW o SR,
(iv) Show that the optimal solutions to primal and dual
pmblems have samé objective function value,
wafRer T 6 e ah Rer wens & g
BT T WA SR R Ry B B 10
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el & A g8 foa S (x) 9T ATE Tl &, T
dEn T T e @ |
x = 2000(1 — &), Rred k = 0.001.
A.m{ﬂmmqﬁﬁmmﬁrmw
2| 5
(c) A firm requires 10,000 units of a material per annum.
The cost of purchasing is Re 1 per unit, the cost of
' replcnishmeni of stock of material is Rs 25 and the cost
of storing materiaﬁ is 12.5 per cent per annum of the
~ average rupee inventory. Find ihe optimum order size
"and the corresponding total cost, using' calculus.
o S w e S 10,000 FRE TG 1 3
oz %7 W 1 To AR T & € A I I @
; mzaﬁo%@zm%ﬁmﬁm@mﬁmﬁ
Wi gar @l 125% uﬁfaé%a_swmweﬁ{
aﬁgﬁmﬁ,%@aﬂ‘mmﬂm&,mﬂﬁﬂ
| Or (W) |
A firm’s production function is Q = AL, K) =2AL”* K&
" Under what conditions will it give increasing returns {0
- scale and di'rriini'shing returns to inputs, if possiblle?
s G @7 ST B § Q=AL, K) = AL*K". fom
Zqmelt # T T STEY T A Hwa Sl STmTelt
W, aft qva ¥, wan aiew e 5
'4. (a) Find the marginal rate of technical substitution and the
-~ elasticity of substitution for the following production

function:
5450 . &
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Rrefafaa Saed e @ (T T SRS oy,
SIS @) w @ i & B

1K
Q= j(L, K)wl X

Or (W)

The production function of a firm is given by 160 =65
~2(x - 5)% = 5(y ~ 4)%, where x and y represent two
different types of inputs and O represents the quantity
of output produced. If the unit prices of the inputs x
and y are Rs 8 and Rs 4 respectwply, while the unit
price of the output 0 is Rs 32, find the maximum profit
of the firm. | | ' 4

TF G H SAET BA 30 A0 6T § 160 = 65
- Z(x—lS)z - Sy - 4)%, ﬁ'fﬁ'afx IRy o O maw C?-‘
Frelt @ oft @ wenfie Ses 2 W @ e a
&1 A xRy AT A gfe Fd waw: 8 To oK
4.%0 T AR I i I T 32 To ¥, @ o @
SAEFAA A BT T BT | s

(b) A company produces two products at a total cost

Clx, y) = 18x + 9y? where x and y represent the units
produced of each product. Find the number of units of
each product that will minimise cost if there must be 2

total of 54 units produced. Use the method of Lagrange

multiplier. v
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(b) Mr. X purchased an asset of Rs. 1,00,000 on instalment
basis. Each instalment is to be paid at the beginning of
- cach quarter. Find the size of each instalment if the
money is to be repaid in 3 years and the rate of interest
i3 6% compounded quarterly.
et XY el @ oMeR W 1,00,000 Bo i HEIA
gl | e R R el d et 3 & S
ydE R @ SNeR S ey At @y afsr e T
& arw ) 8 ST S 3 & 6% TGl % e
R el oA
Mz. Y sells his old car for Rs. 50,000 to buy a new car
. costing Rs. 2,08,000. He pays down payment of Rs. X

P
o)
eyt

by cash and the balance by instalments of Rs. 7,000 at
the end of each month for 18 months. If the rate of
interest is 9% compounded monthly, compute the value
of X. ¥ 55 L
R Y ST QU B 50,000 Fo F ¥ T © WS
2,08,000 To & 7 FR @IT TH| T X o0 TES
T ST 2 & ofR 9 7,000 To # fRwl ¥ W

,m'ar%arcrﬁ 18 789 TF a1 o1 AR W [ 9%
-cm»-qﬁzamq? *rﬁms%qs‘ra‘rxmr{awﬁ'
HITT |

(d) Machine X costs Rs. 10,000 and haq a useful life of 8§

years. Machine Y costs Rs. 8,000 and has a useful life -
of 6 years. Machine X generates an annual labour

savings of Rs. 2,000 while Machine Y generates an
| J

5450 17 Turn over
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annual labour savings of Ks. 1,800. The time value o
money is 10% per annum. Find which machine
preferable.

X 930 @ @I 10,000 o ¥ ol T Tﬂlﬁ?ﬁ
s af ¥ Y @ AT 8,000 Fo aﬁzwuhﬁarg
6 a4 &1 Wy X 2,000 To B ARF 207 ot ey &
D Y. W 1,800 Fo B Al H7 qmw wwh 3,
T W TG T 10% mﬁaﬁ%uﬁmaﬁﬁqﬁ;aﬁm
i v st ¥ .

(€) A house is sold for Rs. 50,000 down payment and 10
semi-annual instalments of Rs. 5,000 each, the first
instalment becomes due three years hence. Find cash
pnce of the house if money is worth 20% compounded-
scml-annually |
T 9 THIA SR W 50,000 To AR 5,000 To
%l 10 srgaiies fmal F srerrtt Wt dar ar ¥4 vedh
e o § 1 o 9 ¥ ¥ wem 9 dwe S

ST BT A HET T I TR AT B AR W
et w7 & 20% ¥ 3

5450 18 300
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Or (@rmm)

After an adyertising campaign , o
of 1) given by fY) = 100¢-0251 Where
of months since the close of Campg;,
(i) The total cumulative sales after 5
(i1) The sales during the founh mﬂm}
FRrSTTORT AR 3 9 T ST g i
T} T A = 100e0%, Roras tﬂé’ml
TR & g4 @% % EIES @\‘Fﬁ o m
() 5 HE 9 FW G

(i) T WE § R

5. Attempt any three quesiions:

=2 = gl @ %@
(a) A nlwpreclates at the rate of

years, at the rate of 10% for next 3ye
rate of 15% per annum. Compute the
at the end of 10 years, if initial value
10,00,000. Also, compute the
depreciation..
T A9 W v & o § 8% B
& T O i A & Ry 10% B
o o A A e 010 @
s A afe wef @ oW
To ¥\ W & e @ o |
5450 w-| 16
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RO A AFd C(x, y) = 18x% + 9y? T & Il
WW%,WxGﬂTyWW#WTﬁH
P Pl B ¥ ovdw sae @ giel @
T @Y A B R B Al g/w
7 T9) Bt €1 S s fafy @& wE
T |
Or {3raan)

irice elasticity of demand for a commodity is given
e following: | |

€ 3P

_._” (P-D(p+2)

the corresponding demand function if guantity -

rded is 8 units when the price is Rs 2.
T @ | @ dva W Frefoiea § gar gad &
e 37
. P o-D(p+2)
T URT %E TG ST die 5 :rg qr= 8 e
BT 2 To B ]
emand and supply laws for'a commodity are
tivelypdz 18_2x_xzand‘ps=2x—3.

he consumer’s surplus and producer’s surplus at

rium price.
T & fo sty o wwrd P wae
Py=18-2x-x’and p, = 2x -3

mem&aﬁrmm‘lﬁr
Yo
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Xlaﬂixzmﬂ‘ % forg mim T,

Pl H FEA & AT T FAG
| .

%, = —5— A x, =16

P\ P, p,p;e

At @ AN AR WrEl By,
e B X, X, asies § |
(b) A cm}las, for x items
cost C and total revenue R give
C. = 100 + 0.015x° a'ﬂdR = 3x regy
P many items should be pmdﬁced to if
What is this pmﬁt‘? - ¢
Th FGET B SN x M &
HA T R I R @S O
~ C =100 + 0.015:2 IR R'=!
T A 75 R amgen dar
A SfETH W | Ug TN (R

- Or ()
A company miakes a profit of RsJ
product it sells. If it Spénds an amow
on advertising, then the number of it¢
X, is given By x = 2000(1 — ™), wh
the value of A that will maximise t®
T T o g o s 4
mm%“lﬂﬁﬂ?x&'ﬁo ufa @

54
50 12
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tenue received from the sale of x units of a

iven by:

2

=200+
R =

rage revenue
inal revenue

al revenue from the sale of 26™M ynit,

x el o e | W Fe o 569

@ f%m%%:mﬁm T |
Or (3vean)

partial elasticities of demand and determine

_ind Xi' are comBetitive or comp.lementary.
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5450

Basis | X1oxp oxo, &
Xy 131 0 p .
X3 560 1 _y 3
S 5B 0 0 g

REICEAEICT B i T
mfﬁﬁwmﬁ@%’
G-» 2 4 3 ¢ |
WER x oxn w5 g

. | ]
X mo1r 0 1s g

il
X3 56 0 1 -6 7
S5 530 0 -2 -

{
In this, x;, x, and Xy represent thet

produce of the three products A, B‘
while Sl_, S, and' S, represent the rt:
three resources used.

'ﬁﬁx,, X, Bﬁ'(xfgﬁra i WEm 373[‘
A: 1 T @ A, B ol CA
g afRs, s, 9, ggaamwﬂq

e )

Answer with reasons the following 4"

: i

to the solution in this table: ]
. R

Frfofee weit & wme g afed :
LR ] ﬂ'- ﬂﬁ : i'
8 1

Y |

Scanned with CamScanner



Or (\WWT)
“has 90, 80 and 50 running feet respectively
wood and rosewood. The produict A requires
running feet while product B requires 1, 2

ng feet respectively of teak, plywood and

er unit. If product A sells for Rs 480 per

luct B sells for Rs 400 per unit, the carpenter

W how many units of each of these preducts

roduced to derive maximum gross income

tock of wood? Formulate this preblem as

obtam the answer by graphic method.
mﬁ%,qmgaaﬁrﬁaggaﬁm:go,
W1 %2 ¥ 1 %A AS Rig 9, 1.8l
aﬁ*%mmsﬁ i, W5gs
m{’zm 1, 2 R 1 T g
lchd:GamMsoaogﬁr{ﬁ'aaﬁT
5°Bﬁ‘zgfafam%a}a¢3‘mwm
Wm##mwmm
ﬁ%mmﬁmgﬁémaﬁ
WWWLPPE%W#W
Wﬁmmaﬁﬁql 5

§ the simplex table for a maximization
| Programxmng problem-
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5450

FHA: 0.5, 0.8 AR 1.5 ¥ AN gy
& HA: 10,600; 5,300 am_gl,%'i
=7 50 o Wi H RT &1 I 3
A AT BT T B Ty
(i) The gross output of each secto ¢
T 85 B b S
(ii) Total labour-days required
g o Tl @1 S
(iii) Total value added. 7
N e T ¢
- or (=varam)
A holding company H has two subsiE

Lot o 1

~l

N N |

The subsidiaries also own a portion
of H. The pgrcéntage cwnership of |
below: ;

Owner of Shares Remé;;zage' of Share %
L H JF
u 0 80.
s, | 2 :
s, | 10 1
Outside -. l
Shareholders 88 lqj
Total .- 100 1(1.
If the separately earned net profit Gt‘

1
Rs 42,000; Rs 52,600 and Rs 32 :

4

_ ]
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|
{hc total requirement of each material if the firm
toduces 100 units of each product.

o ward @ T STavasaT, At G e g
?Teo gAe TaR FHET T | |

be per unit cost of production of each product if
e per unit cost of materials M,, M,, and M, is Rs
Rs 10 and Rs 15 respectively.

tes S & SAET @ Uiy gfve wEm, afe M,

;aﬁrmwﬁmﬁuﬁqﬁzwmr 8 %o,
%o 3l 15-F0 ¥

t total cost of production if the firm produces
i units of each product,

maﬁ?@am aﬁﬁmm#zao
%am??r%i 5

‘sector economy has rhe followmg input-output
,nt matrix;

E‘aﬁw’ww%ﬁwﬁﬁaa mnmvfa
EE:—H%

¢ 04 0)

A=102 0 06

63 0 o
ir days Tequired per unit of output of the thhee
re 0.5, 0.8 and 1.5 respectively and their
output targets are 10,600; 5,300 and 21,200
ectively, The wage 1 _gtaﬁ{‘;g per labour-
viability of the system, and by using matrix
1d;

— 7 : Turn over
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j
&l:zs question paper contains 16 printed pages.
Your Roll No. .....ee.....
; _ _ ¢
tSI No. of Ques. Paper : 5451 H
;U,zique Paper Code 241302 ,
é\/ame of Paper . Income Tax Law and Practice
%Name of Course : B.Com. (Hons.)
E emester : 111
iuration | ¢ 3 hours
{Vlaxlmum Marks 2 75

Write your Roll No. on the top zmmedtate!y
on receipt of this question paper.)

(swwv-w%ﬁaﬁa?mﬁ#m}ﬁaﬁﬁmw
AT g farEd )

NOTE — Answers may be written etther in English or in Hindi;
but the same medium should be used throughout

é the paper. |

ety : o qoT-q T IO¥ St a7 R R T ST
| F S, afeT @ ol aT A @ d ET
TeY |

All questions are compulsory.

ot gou Sifaar &1

ot i b

(a) Who 1S regarded as an ‘assessee’ under the prowsmns

of section 2 (7) of the Income Tax Act, 19617
P.T.O.
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o T S, 1961 Y T 2(7) H & TE oy,
& St FrefRdr fRY A Sar &
(b) How.will you determine the residential status of a Hiﬁd
Undivided Family?
B B ?
(c) Enumerate five incomes which are chargeable to
under the head “Income from other sources”.
Tl 9 A T gAY P W e @ 4 an
| i & sfefa & @ 5+54
- | | Or (GWI?IT)
(a) State, giving reasons, whether the following statemer
are True or False:
| (i)  Assessee is always a person but a person may
may not be an assessee. |
(ii)_ Section 32 of the Income Tax Act allow
depreciation only in respect of tangible assets

(i) - Salary received by the Member of Parliament!

taxable under the head ‘Income from Salary’.

(iv) Income from subletting 1s chargeable under
head.‘Income from House Property’.
(v) Only

resident individya] and resident H.UF. &

eligible to claim deduction w/s 80C of the Incom

Tax Act, 196].
5451 - |
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i o ¥ ¥ a1 o, HRO AR e
BT -

O el w o ate e 2w e

iRt 2 off wwmar & aig =78 o)

(i) SRt ST o a2 g aReRE @

W F e A el oy

(i) W % gR R w3 s S @
AT | ARG Bar B ¥

(iv) SURIER § o e awfy ¥ o s &
ATT W AT Sy )

(v) @aw FErl @fm ok HUF far, e ax
af@rﬁruqmela?rwsoca‘;w&rara?ﬁaﬂ
TN H FhHaT 51

(b) Mr A, a citizen of India, left India for fhe first time on

3451

August 12, 2016 for the purpose of employment in
USA. For the previous year 2016-17, he furnishes the
following particulars of his income: i )
() Income from employment in USA  18,00,000
(ii) Income from hoﬁse property situated
in India but received in USA 3,00,000
(iii) Interest on US development bonds
~ (half of which was received in India) 2,00,000
(iv) Interest on debentures of M/s Tata
Motors Ltd. ah Indi'an Company 1,60,000

3 P'T'O..
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(v) Royalty received from Govt. of India
which was paid to him in USA in
-respéct of a project being executed
in UK - 3,00,0
(vi) Capital gains on sale of a house
property situated in Mumbai (entire

consideration was received. in USA) 1,500

et A, & 9T & ARe B, 12 e 2016

TEdll IR JUA F Hehd & o ARa F @ an) fi
aé201617%%1qagwq=ﬁm%ﬁwﬁr%ﬁﬁq

o - |
i) USAH ﬁrrmn q T 18,00,0
(i) 9T ¥4 Rua & guly 4 s &y
ST § A B T 3,00,0
(i) US [ 98t W et (e &
- OTeT WRA # W fRn wram) 2,00,0
(v) "od o Hed fiftes, s
F, & RA=RI W 1,60

(v) WA @R § W e Bl Sy
AR #, UK § froqfe afeiom
& fog, Rar mr 3,000

(vi) H9g ¥ Rud e dafy & ey )
T T (Tt R USA |
4 g feran) 1,500

54/
5451
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=

g

2 w’.‘n IR,
-

(@

Ms. Y, a software engineer in TCS, New Delhi, submits
following particulars of her income and contributions, etc,
for the yc:ir ended March 31, 2017. Compute her total
income and tax liability for the assessment year 2017-18.
(a) Basic salary: S0,000 pm
(b) Dearness Allowance: 30% of salary

(60% forming part of sélary for all future retirement

| benefits)

(c) Children Education Allowance: Rs 200/- per month per

child for her three children

' (d) Free lunch for 270 days during office hours @ Rs 75

per meal .
(e) Bonus: Rs. 1,00,000/-
(f) Medical Allowance: Rs 2,500/- pm

) Her employer provided her with interest- free loan of

Rs 20,000/- on June 1, 2016 to enable her to buy an air

conditioner

(h) A Titan watch, costing Rs 4900/-, was gifted to her by
the employer company on its foundation day

(i) Telephone facility costing Rs 15,000/-was. provided
at her residence free of cost, by the employer

€); Ttansporp Allowance @ Rs 2000/- pm

(k) House Rent Allowance @ Rs 15,000/~ p.m. She hired
a rental accommodation @ Rs 16,000/- pm at Faridabad

s P.T.O.

2
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(1) Her employer contributed Rs 100,000/- annually

Recognised Provident Fund A/C to which she my
matching contribution

(m)Interest @12% p.a. amounting to Rs 120,000 W
credited to her aforesaid Provident Fund A/C

(n) She deposited Rs 60,000/- in Sukanya Samridg
‘Account scheme in the name of her daughter.

(0) Rs. 12000 were credited to her saving bank a/c opera;
in Central Bank of India during FY 2016-17.

o Y, 78 et # TCS ¥ wivedw ol 81 98

A SR AEH SR & 31 AT 2017 T GH g ¢

& firy Frafiied R v w31 sae

aé2017-18%%qaﬁfmaﬂ1méumaﬂaﬁw

ST |

(@)« 999 — 50,000 9fq ATE
(@)TEME ST — a7 H 30%

(wso%mﬁwﬁﬁmﬁqf%rwﬁ%ﬁm%aﬂ
9T BN

(T )aaﬁﬁﬁm%%qw—moaom%uﬁra”
g9 I T=ai & fog ‘

(=) Srafadt et & dRrT 270 R @ frg Frges Quet
I — 75 %o Uy W & & q

(%) 919 — 1,00,000 %o

(=) faferear =T — 2,500 ®o Wiy HiE

5451 6
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() S TR IR 1 S 2016 Y @t Wed 20,000 Fo
&1 T TA BSIIFR Glew & forw far &1

() B & T Raw W P ¥ 9@ 2w @
SR # § & Rraar @ 4,900 Bo ¥

() 15,000 To W TR @ efwi gem, Fritear o
fed w0 H S0 A" W& Bl

(=) TRTET W1 — 2,000 Fo Ui AE B W

(2) T& TR T — 15,000 Fo e WIE B T H 1| TE
Wﬂm‘q’ﬁﬁlsoooaogﬁrmﬁa‘(ﬁmaﬁmﬁw
-SRI

(o) sa Pl ¥ wad wraawa sfoen e @ |
10000060arﬁ$wm%ﬁ?ﬁ=?r€rrﬁrm
S OETE 5l

().12%9%36&21%3{@(1,20,000@357@:1333%3«v
Wmmﬁﬁr@@ﬁmm%l

()wﬁaﬁéﬁ%wﬁwmé@mﬁ
60,000 To AT HT €|

()ﬁ—rﬁaasfzme-m%amaea%mms@wﬁ
SE 12,000 To Y ¥F @R K w0 HAC AL 13

Or (3rean) |

i n
2. Tllustrate the provisions of Income Tax law relating to any

two of the following:-

: odation
(a) Valuation of rent free unfurnished accomm

" provided by employer.

. P.T.O.
5451 4
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(b) Valuation of concession involved in sale of Moy,

assets at nominal price to the employee or his Mey

of household.
(c) Exemption in respect of encashment of earned legy,
the time of retirement u/s 10(10AA).
Aot & @ fd @ @ waf o AR e
Sqaeian e foaRer <IfT:

() e &1 e T T ergRie foRTaT R am
(@)FHEN ® T SHb W H G Hl THA B
o R @ e F Ra @ g
() ST 10(10AA) & Sfertd Aty & awd ot

| EHTY B YA b AT A G Tas]

3. (a) Mr K furnishes the following information pertaining
a .house construction of which was completed !

January 10, 2016:

(i) Municipal value - 3,00,0
(ii) Fair rental value | 3,20,
(i11) Standard rent : 2.90,0

(iv) On July Ist 2013, he raised a housing loan of
30,00,000 (entire principal amount of loan is
outstanding) @10% p.a. from a Cooperaﬁ‘

Bank. He incurs the following expenses in resf

of this house:

5451 ]
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1. Rs 6000 were paid by way of municipa]
taxes including the arrears of Rs 3000/ in
respect of F.Y. 2015-16.

2. Firerlnsurance Premium paid; Rs 10,000/-

Compute his Income from House Property
assuming (A) House property is self occupied
throughout the previous year by K and his family;
(B) It is let out throughout the year at a monthfy
rent of Rs 26,000/. | |
@) & T W B Pt & defm Pt e
ST & S 10 SA 2016 HT QA S AT 4T

() =FREE g ~3,00,000 o

(i) <fra fmr T " 3,20,000 o
(iii) weh bt 2,90,000 Eo

(iv) 1 S[@TE 2013 @ IEA-30,00,000 To TE FIT (F0T
T HYT W & S T ©) 10% Wi a9 &l
¥ AT ¥o § far 31 98 3@ W B gy i
(1) 6,000 To HFREUA FA % g P iz
aq 2015-2016 & GT H 3,000 To FHET AT & |
(2) &fT S N %1 10,000 So far B
TE THERT W IUhT ST BT SAB HINT T8
"R {6 (@) 78 |t fasa ar adf sas aRar
N WY % I § W e, (@) 9§ 9R 9|
26,000 Fo WfYE FRTT W Ry | 10

9 P.T.O.

U
ey
v

—g—
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(b) Illustrate the scheme of indexation for Computy,

the long term capital gains.

WWW%WW*WWQH
IS T U HIfoTT |
Or (7o)

(a) Mr Z is a farmer. He earned net agricultural incop,
Rs. 9,00,000 during the previous year 2016-17, |
gross nbn-agricultural income-is Rs. 8,40,000 fo,
same period. He paid Rs 1,30,000/- as life insury
premium (sum assured 11,00,000) on the life of|

" major son (policy was taken on” Ist June 20}
Determine his tax liability for the previous y
2016-17 relevant to assessment year 2017-18.
Y Z 0 fFam 31 s|Y Rod o 2016-1
9,00,000 %o ® BT o i = of | sEa @
PO T T SR F 840,000 Bo gs i1 7
1,30,000 %o ST o1 fiftram & sy 93 32 & o
W fag ( E?rm?gernf\r 11,00,000 To) | s giferdt 11
2014 H1 A TE ot | 36D Rwar a9 201617 & fomg @
“ﬁamﬁﬂmiﬁﬁqsﬁmw 2017-18 & ¥
Bl |

(b) Mr L inherited some Jewellery from his mother V

died on 15-8- 2001. The market value of this jewell

at the time of death of hig mother was 10,00,000 thot

5451 10 5
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his mother acquired the same for Rs 2,00,000 on 11th
of May, 1992. He paid Rs 2,00,000 to goldsmith on
5-11-2016 for imﬁrov’ing ifs level of gold purity and
sold the same for Rs 60,00,000 on 1st of February 2017.
He paid 1% brokerage for arranging its sale. Out of
this sale consideration, Mr L purchased a residential
| house property on 30th of June 2017 for Rs 40,00,000.

Compute chargeable amount of capital gainé, assuming

| that Mr L owned one residential house property on June
[r 30, 2017, for the assessment year 2017-18.

!

| CIL  2016-17 1125

|

2001-02 426

1092-93 223 |
foreey LY Saad Wt ¥ 9 Sewa o | e et
T7eg 15.8.2001 F g off | SHH! AT B TG B I T
T FHT R e 10,00,000 To o T IqD Al
X od 11 °¢ 1992 & 2,00,000 To F Tl AT| TEA
5.11.2016 & TR F1 JEAT & TR & GURA & [T
TR A 2,00,000 Fo R & X fHT I 60,00,000 FO
¥ 1 g 2017 @ ¥ Rar) SEq wal R @l
T HY & T 1% aed & o) 3@ R @ ar<
SRrEe & T L 40,00,000 To & 30 ST 2017 Wl
m%ﬁﬂ‘l‘s’ﬁqﬁﬁ@ﬂﬁlﬁgﬁﬂﬁmaﬁm-

2 11 P.T.O.
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ey AT &t Srferepa T aof 2017—18%1sTn
AR BT b e L& utg U manfr ’1311
30 S 2017 i T |
CI: 2016-17 1125
2001-02 426
1992-93 223

4. (a) Xand Y are two partners (2 : 3) of X & Co. engage

commission agency business. The Profit and |

Account of the firm for the yeaf ending 31-03-201

as follows:

Particulars Rs. ‘ Particulars R
Cost of goods sold 9,00,000  Sales | 22,81,(E
| Salary to staff 5,89,800 Long term capital t
Depreciation 40,000 gains 5,904
Remuneration to Partners: . )

X 2,40,000

Y | 1,60,000

Interest on capital to

partners @ 15% p.a.:

X : 45,000
Y 30,000
Other expenses 3,56,200
Net profit /5,10,000 |
' ]
28,71,000 28,71
5451 12 °
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Other informatmns:

(i) The firm comp
of firm.
(i)

(iil

~ Find out (a) book profit and (b
le under section 40(b) of Income

ax liability of the firm for the assessment

parmers which is deductib
| Tax Act and (c) t

| year 2017-18.
|

ySalary and interest is paid as per
) maximum remuneration to

leted all legal formalities to get the status

Depreciation allowable u/s 32 is Rs 80,000.
Partnership Deed.

o 3 3 e (2 ¢ 8) E o b et

| X AR Y, X TS
qa:\ﬁ%a:rmffaﬁgq%l $1.3.2017 Y A gT I9
4 et e R PR
E o famm @ o
?:qma & @FE 9,00,000 fsI 22,81,000
st & 3 5.89.800 TEeRITER
, 40,000 o @ 5,90,000
& TR
2,40,000
1,60,000
e BT W '
I 15% i@y bl
T
45,000
30,000
T 3,56,200
B 5,10,000 ,
P.T.O.
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T G .
(i) Wﬁ%ﬁﬁﬁﬂﬁlwm%mmﬁﬁ
AreRepart qft e off ¥ |
(i) &7 32 @ st T qEIErd 80,000 vy
(iii) 9T 3R =ART &7 YA e R @ *
far &1 |
T HMT 2 (F) J& T & (@) A
Sferda wRafiE Wt R o w e o
40(®) & SHeler Fer ST wehaT ¥ & (W) Fyerfor
2017-18 & forq wHf &t s
(b) Discuss briefly proviéions relating to deduction§
respect of payment of interest on loan taken for ng_
Education under section 80E of Income Tax Act. |
ST T AU 2GR 80 B et S=1 R
ferg, ﬁrqwmwwa&mmwﬁ%mﬁﬁ
%wﬁmmhmmamwﬁmni
Or (srern) |
(a) Discuss briefly the provisions of Sec 40(b) relatm"l

deductlblhty of remuneration to the working partﬂfé

and the interest paid to the partners. :
amm(b)ﬁfr#émawaﬁa?rmﬁvﬁﬁawﬁ

ﬁmmwmﬁmwmmmWw
ﬁ%wmﬁﬁMWM%

5451 14 | h
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| (b) Discuss briefly the special provisions relating to

| computation of profit and gains on estimated basis in
case of taxpayefs engageci in the business of plying,

hiring or leasing goods carriages (Sec 44AE).

W S W ST SR W e @R @

| TR A e ¥ o w3

| T W W AR W WA § ey § W g0 ¥

fi (GRT 44AE) | |

| (c) Discuss briefly the provisions of Sec 43B regarding

: certain expenditure allowed on actual paym.en,t;,
E basis. _
| IS SR SER W &g iy =t & ar
9 g 43BH & TS Aaegel wl §E9 ¥ faeE
FIRT | | i 54545
- (a) When is an individual assessable in respect of Income
| of his/her Minor Child [Sec. 64 (1A)].

AT W I AT AAH H AF & GG F HF
T A &2 [T 64 (1A)]

(b) Discuss the significance of judgment delivered by
Honorable Supreme Court in the case of “CIT vs Raja
Bendy Kumar _S_ahasv Roy (1957)” in the context of

agriculture income. =

45) , ! i P.T.O.

e
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iﬁﬁm%a’aﬂfﬁcnww%ﬁmm
(1957)%Wﬁmﬁﬂaﬁamm

T W & e A e @i
(c) Explain the provisions relating to set-off ang 9
forward of loss under the head ‘Income from B

Property’.

g gl | o sﬁcfes‘c%w&rzﬁﬁm
FE AR RT B F G el @ 5
HRTT | | sf
Or (W) | |
(a) Discuss briefly the provisions regulating set-off_-»
carry—forward- of capital losses.
{ofa PRt @ wnf F o orif
BT |
(b) When is an individual assessable in resped
| remuneration of spouse [Sec.64(1)(ii)]?
RINA ST TRt & frg a?lﬁﬁ W
T ST & [9RT 64(1)(ii)]?

(c) _When 1s e-Filing of Income Tax Return cdmpulsm i

W_Wzﬁfé-%ﬁrmaﬁﬂﬁmﬁém%? 54

5451 'm -

Scanned with CamScan-ﬁer



5 | This question paper contains 8 printed pages. .
| | | Your Roll No. .............
SL- No. of Ques. Paper : 5452 H
Unique Paper Code 241303 '
" Name of Paper = : 'Macroecon_omics (CH 3.3)
Name. of Course ¢ B.Com (H)
) Sermester st 1II e
'D'uratibn-' | ¢ 3 hours |

) “quim_um Marks : 75

Wrzte your Roll No. on the top immediately
-On receipt of this question paper.)

(mwv—w#ﬁaﬁa?mﬁ#wmww
| mo@mmi%i%#/) B

| : NOTE — Answers may be wrztten ezther in Englzsh orin Hmdz
I = .. but the same. medium should be used throughout
 the paper. |
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- é&vmﬁmwmwﬁﬁw
-an%v/
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All questions from each sectton should be attempted
together. All questions are compulsory,
T T @vst B frnfer &)
T @ 3 i e g e w
T 797 sifart &)
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|
SEC"‘rION A
1. (a) What is GDP? Briefly discuss its various components, |
GDP T BT &7 59 R Tedl a §aT F fae
I | S
(b) Expldin Tobin Model of cash management.
Abe Y B AR HWEd B A BT 10
| Or (\W-FIT) o
(a) Why is aggrégate sﬁpply curve yertié’él in long run'? |
w1 R ¥ B e R 9 dufatr § Sew e
&, - - 5
(b) What is high powered money? Discuss the r_ole. of high
powefcd money and money mu]tip]ief in sup'ply.v- 6f
money. | | ' o
Gﬁrarﬁﬂaﬁﬂamwé?ﬁ%?aﬁrsmaﬁﬁgm
ﬁwﬁﬁﬁm@mﬁ@mﬁ%w
BT 10

2. (a) Explain derlvation of LM curve. What are the factors
which affect the slope of LM curve?

© LM 3% &t e @ samen $i | LM 9% @ o
ﬁwﬁﬂmﬁmﬁmaﬁ?ﬁ?? 8

(b) Examine .effeCtiveness of fiscal policy in Keynesian
range and classical range

%%qmwafaaﬁﬁaﬁmﬁmm:ﬁ%ﬁ

THIIAT @ St @i 7

5452
2
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or (GIW)

yrve. Discuss various factors which

n IS ¢
e of IS curve.

ﬁmllsa%aﬁmaﬁﬁufﬁaasﬁ
mmﬁaﬁﬁmﬁml | 8

onetary policy in all ranges

ne slop

o effectiveness of m

curve. A | .
E%Wﬁwﬁﬁﬁrﬁm:ﬂﬁraﬁmmaﬁaﬁa

. ; .
'

SQECTIONB

+0.8Yd |
61

Y
for money = 0.2Y - 21
f money = 300

tion for IS curve.

tion for LM curve.

librium level of income and rate of interest,

3 P.T.O.
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(d) if government expen(‘iiture is “"Creasﬁ
will be its impact on Y ang i? |
(e) If nominal money supply is increased’
will be its impact on Y and i?
Ry mar & f
C =100 + 0.8Yd
I= 150 - 6i
G =100
T= O.ZSY »
BT & AT = 0.2 - 2
HET @ 9Rf = 300
P=2 .
(®)1S T 4 T ¥
(@) LM 7% 2 TR | |
(M) o ofie &t &3 a7 wge
(%) A a2 50 T IS g €
ERIC v co) P f
 (8) 3 T g oft oy 400 T3 Ry ¥
 dWRiw T Q91T g3y
Or (W) t

it

»/ o n =S

C=200+.75y
1= 296 — 16
G = 340

5452
4
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T = 0.2y . .
TR = 80
L =02y _ 8i
Real supply of money = 200
(a) compute equation for IS curve.
(b) compute equation for LM curve.
| (é) equlibrium level of inbonie and rate of -interest.
= (d) if G is increased to 400, then what will be its impact on
 Yandi e
i (é) if real -supply of money is increased by 50, then what
‘will be its ‘impact on Y and i. |
- Tt g =200
f ;( )IS%%%QWWWWWI
(@ LM T B RIT THET & R R
| »'_(w)axmaﬂ'(mazasraga?w '
(=) 3l G 400 T T T ¥ o ey ki |
o Am
(5 )uﬁwﬁmgmgﬁfﬁsomﬁmar&a‘rmy
' aﬂ-{lq'{a:q]'g“l:ﬂa‘q@'rn’? 3,3,3,3,3

SecTioN C (|08 )

4. (a) Derive aggregate supply curve.
et qff @k B FA= B | 10

54573 5
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(b) Discuss social cost of inflation. -
THifT bl WA @I &t ferer=rmr anifor | 5
| or (3w@m) :

AUSRY

(a) What is natural rate of unemployment? Discuss various

factors Wthh determine it.

R B WHRE R ad %? ‘s'@f ﬁuiﬁa H
T R wRa @ e @ 10
(b) What is Phillips curve? How is the Modern Phllhps curve ;

—

dlfferent from Tradltlonal Phillips curve? Q¥ 7
fthfer a6 /a8 &0y fefrew @ ﬁ»‘a YHR
Wﬂﬂﬁsﬁmw@rﬁ?‘sﬁm%? NPT I

5. (a) Discuss. Mundell—Flemmg model . o
ERwRR dew A R AR 10
(b) Briefly explain rclatlonshlp between exchange rafe _and
level of GDP. | . |
ﬁmuaﬁ?enp%w%ﬁamaﬁmﬁ ‘
AT BT | S 5
Or (QNEIT) | .' |
(a) What will be impact of following on trade balahce of

5.
- large open economy?

i) Expan'siohlary fiscal policy at home.
(if) Trade restriction,

)
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W 2 AR QR T B
W?

h ;mpact of expans

545

jonary monetary policy

Ab um level of income for a small open

-lf exchang€ rate is fixed.
W%m W%WWW

gfaﬂ_ﬁ’tﬁ\ 5

tion for visually impaired s

mem%mm

bove question paper

tudent

.vnt for Question 3 inthe a
_ae following quesnon The remaining questwns ’
g scheme. is same. | '

T § g o 3 3 g wReaE § FEU
_mﬁﬁa&ﬁm e qaﬁtaﬂ%mmaﬁ
¥

t notes on income determination on following:

Dr economy

br economy.

“ o Frtor W gl feoforr Fo‘ﬁﬁq
T S
!’3’?{ GTEj'am'(.:an l | TVa+TY2

7
"
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Or (3t

Write sho |
rt IlOtes 0

n follo ow;i

Ing:

(a) Fisca] policy
(b) Monetary policy.
Frfofe oy .
() Ty iy
(@) iy,

e

5452

Scanned with CamScanner



This question paper contains 4 printed pages.
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(Write your Roll No. on the top immediately
on receipt of this question paper.)

oTE:i— Answers may be written either in English or in
Hindi; but the same medium should. be used
throughout the paper.

WUT:— wmarmaﬁa?mfﬁfww
w#ﬁmémwﬁmwmswwﬁ
g aET,

Attempt all “qués;ifons. Use _of calculators allowed.

it T & I AT degeieX F AT W qHd E

(a) What is project planning and why is it necessary?

IR SRS SR & ? 98 v ¥4 87 8
(b) What are the factors that a Project Manager must
- examine during pre-feasibility study?

Jd-smdgrdar atedd W SR W RIS S

aﬁfmmﬂaﬁmqﬁwmaﬁw gt
P.T.O.
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7372

Explain any three tools used for ]d(,nllfymg inves,
opportunitics in Project Management.

qﬁu‘rmwmﬁﬁ%ma;mﬂr{mm
I i TR FHl HHATZ |

2. (a)

(a) Explain any (wo

(b)

2

Or (AG4])

What is a market plan? Explain its
components.

ari

HHEARRY |

A project of ABC costs Rs. 4,00,000 zn:
expected to generate the following cash flows
the next five years. Compute the payback peri
and discounted PBP for the project.

UEWABCE—'TW4W:: 33
mmalmaﬁmm%ﬁg

fraradt PBP =1 gfimey FITST |
Year Cash flows (in Rs.
1 1,25,000
< 1,40,000
3 1,35,000
4 1,20,000
2 125000 |
Or (#AgET)

quantitative techniques of ma!

demand f,'orc:caslmﬂ
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3 ' 7372

qIR & Wi qaEiqae @ @ WEIHS e
qaERy | 8

(b) What factors are important while deciding the
location of a manufacturing plant?

s SEn S ©E #® 9T & A F ¥
FReE AU © ? 7

3. (a) What is shadow pricing and how does SCBA differ
from monetary cost and benefit analysis (financial

analysis) of a project?
gl qed frafr &= @ SCBA foh¥ SR TF
Mo & AifEs anra SR e favese (ot
forgerwon & =T @ 7 8
(b) What criteria are used for measuring the success
of a project? | ‘
TF WNEE H gEAd gy ¥ fag w4 9
ATqes S TEyATe feRam ST @ 2 ' 7
Or (319dT)
(a) Briefly explain UNIDO approach.
UNIDO u<fa &I dfera W auan] |
riterion. What is
? Why is NPV

8

(b) Explain NPV as an investment C
the rationale for the NPV rule

considered superior to IRR? |
NPV 31 e Aree & &4 H wAERT NPV &
fagia & qHlaR ¥ ? 7 NPV @@ IRR ¥ 3

' g

FA HAT 7T @ 7
p.T.O. i
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7372

4 (a) Explain WBS and Gantt Chart.
Az =1 WBS | HHEET | N

(b) What are the reasons for terminating a PIOjeq

before its planned finished date? |

Th W w1 S T sifm fafy @

I T - AT FROT Q7

Or (319

(a) What is meant by Risk. Analysis? Briefly explaiy
any two techniques of risk analysis.

shfm fareawm = 22 Sfaw faver 2 fasd
& TR F Wl § TR

1

8

(b) What are the legal aspects in Project
Management?

TS To e % S TR TR Y 7

Write short notes on any three of thé foilowing: 5x3
(a) Loan Syndication .

(b) Venture Capitalists

(c) Network Techniques

(d) Internal Rate of Returp (IRR)

(¢) Sources of Risks. ‘
Z;qufgfm@%% ai? E?%'“r T R w e feouft HIFT
(b) 3zm Ysfiufy

(¢) A2ad; dehteR

(d) Al = ey (IRR)

O - UE e —— N
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62)
_ : 7763

(@) Define HRM and d:scuss its features and objectwes

() HRM involves all management decnsmns and Pracic
€
that duectly affect ot-influenice the people who work ¢,

the organisation. Explaua. _ ' , ; |

a (F) HRM = i difsg R T ferommet qy
Il HI f ST Ohll\SIU ' |

(@) bR 3 T s fimfa R R Wi
'@ﬁ‘%’@rwamﬁw%mmm
e FﬁTﬁ ﬁ g H %‘l ST ﬁﬁm

 Or 2
(a:raaT) |
- (a) ' “The Human Resource Manager performs managerial as

well as operauve functions.” In the light of this statem‘ent

explam__the role of HR manager. m, = §

(4) Criﬁcally discuss the various sources of recruitment. g

(F) “SF G o, e v g w
w1 PO % 31" v e @ e # A
T Yaies o) U ) sqre iRl

(@) ﬂﬁ%ﬁfﬂ?{%ﬁ?ﬁaﬁemﬁaﬁmﬁawﬁﬁﬂ'
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(a)

(b)

()

(3).° 7763
Discuss the significance of employmént tests. Discuss
any three types of employment tests commonly used in

an industry. | | 8

What do you understand by placement ? Distinguish

between placement and induction. | 7

'Wﬁmﬁﬁwﬁﬁéﬂﬁm|m

fT??FﬂFqET ugfﬁﬂ1%ﬁa€f?ﬁ=ffaﬂ94E#Tir37n11xﬂ&n3ﬁ

';EﬁT fééra=n Eﬁﬁ%ﬂzl

" (a)‘

' characferistics, ‘objectives -and limitations.

(b

competitivé advantage.

fzanﬂﬂ'(téﬂqﬁzj iﬁ-an'ann %nﬁa%‘% ? T 3R

.awnnqa"ﬁ' TR Eﬁiﬁﬁl

o
(3rgEn)

Define Human Resource Planning. Describe its

8

“The human resource of a firm can be a source of
» Explain the statement with
7

examples.
P.T.O.
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(4) v

| _ 73

(%) A GEEA TS aﬁ‘JﬁW"ﬁﬁ‘Wl T
froarell, Sevdl R WISl @1 quiy Fifem

(@) “wd B AFE HEEE, AN @Y e gy

- BT &1 T HAT I SR S =R Fifa

(a) Briefly explain tﬁe significance of training to both
employers and employees. Why is on-the-job training

method preferred over off-the-job fraining i 8

(b) Differentiate between sensitivity training and role-
playing. How is role playing useful in fnanagement
development in the present era of globalisation and

bepsiisation g . 7

(%) Frdat o sefenfiedt 6 < wherepor 33 & 7o
F WA F e wifwe) o wRor § S
R G IR B i § e e & 09
SIS e )

(@) WS Sfereror iR siftra- svarertt 3 si SR
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(5) 7763

Or
(31914

(@)  Distinguish between performance appraisal and potential
appraisal. Critically examine the MBO approach in modern

organisations. 8

() Explain with an example the concept of payband

comp‘ensation system. What are its merits ? 7
(%) Trouae geaien iR QuIead Jedishd H STl aEy |
Sy TS § MBO SUFTH i ST=ACHS Wi
(@) Y& wfayfd gsfa 1 Swcad I SR T
S ®IG | 3HR foRiwae =1 § ?

(a¢) Job evaluation determines the worth of the job and not
the job-holder. Comment. Explain any fwo techniques of

job-evaluation. L _ ' 3

(b))  What is the rationale behind offering financial incentives
to employees ? How will you formulate a good incentive
~ scheme ? ' : 7

P.T.O.
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(%) it A, Gﬁﬁmﬁmﬁam%qf
muﬁﬁlﬁmﬁ#”:‘rﬂllquﬁ ‘
3 delRl @ SATE EFﬁﬁ?rqll

(@) FHadt A1 fordta Waﬁ ® M ﬁﬁﬁfﬂﬂw '
) o A L A B

T W |

@ Why is it important  for an organisation to” caiey].

employees health ?

L 3 I
(6)  What do you mean by HR audit ? Explain its objectiVé
: ’ g
benefits and limitations,
%
(%) We o ey, e spvfenfodt  caree @ 29
P Tl 2 *z

(@)WW%ma@_qﬁ&"@meﬁ%

TR, i i 9 e
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(7) 7763

griefly explain the emerging issues and challenges in HRM in

the 2Ist century, ' ' 15

cqmrgdl W&l H HRM H 3Igufid wE SR FAIfA #
e H e Hife |
or
(g
Mr. Swami is a_senior supervisor in an electric department of
a compémy. He served the company for nearly 25 'years with

flawless career record. Unfor'tunat'galy'there_:, was an accident in

the department causing death of one - attendant. Management

~ investigated the incidence and found Mr. Swami responsible for

accident. His services were terminated holding payment of his
gratuity and other benefits. Mr. Swami feels that he is unjustly

treated and Union agrees with’him.

Answer the following questions on the basis of the above case

| study :

"(I)  Would such action on the part of management be

justified 7

P.T.O.
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@) What would be your opmlon and adV]Ce on
is

matter ‘?

iy 3 g6 v F S w S a fE fe
3“ e & fog fder §1 ST e W
@ SR degh v o fewerd W G R
B Y ST SR
o T % SR PR SeE W w

R:’W%ﬂaﬁmaﬁaﬂmmmmﬁ

(1) I HEY H aik@; Q@Am =rafad 2t ?i

@ ST T A iR T e e a a

7763

=il

r
g 400
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This question paper contains 8+4 pfinted pages] - '

Roll No.
5. No. of Question Paper : 7764 '
Unique PafJer Code- : 22411302 . : | | HC -  ‘=' 
Nam;: of the Paper . N :_IgcomeTa* Law and Practice iy '\; -
Name of the Course - ; B-C(;m- (Hons.) I . | " ! | !:_
Semester '. : I | ,7 - T
pﬁmtion .2%Hours | & | M Marks:r.: "

‘(Write your Roll 'No. on the top 'immediately ion‘ receipt of this quea.‘tion paper.)
(39 9¥A- vﬂﬁﬁaﬁ‘éwﬁqmﬁuﬁﬁwﬁm ST aqaaatrm’raﬁqqu)
Attempt All quegtlons

Each questlon carries qqual marks.
, . [ |
ity SIS
TE T B I WA R
1. (a) Whatis Perrﬁanént Account Number (PAN)! 2 Is it mandatory for every person Stai
| | } . \., . \ ‘;
(b) Rohlt chla, a citizen of Indla, isa renowned medlcal surgeon He obtained his -pmf eSSio nal
~ degree from All India Institute of Medical Sc1ences (AIIMS) Delhl in 1996 an '
his nursing home in Delhi in 1999. Besides %ractlslng in India he v1slts foreign cor I

‘?
regularly in connection with his medlcal ofession. Durmg the pge\nous year 2016-14

i
/he was out of India for 180 days and durm seven immediately precedmg prevmous e

v .'.‘.
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h
He reports the following inc fme for previous year 201%6-_17': |
Income from Medical Profess ;011 in India st ; i - Rs 12,0(%“%
Income from Medical Profess 611 in Dubai | . Rs. 8,00,
Dividend Income from Indian ‘Comp(my ‘ Rs. 13,00,
Capital Gains from salc of | l(ruse Property in Duba1, remltted to Indla Rs. 6 003}

| .
Interest on Savings Account Wlth- a post office in India =~ Rs. 13

Computc, Rohit’s goss total mcome for the Assessment Year 2017-18.
(H)WWW(PAN)W% 7wawﬁﬁ$fm1’mmmﬁ
£ . | N
(=) fea 5, Gﬁmaﬂ?rfrﬁ‘oﬁ% a‘s’mﬁmaﬁ?%’lwﬁﬁ@m%ﬁaﬁe
sré Fofea W, feoeht @ 1996ﬁmaﬁaﬂtaﬁn‘éﬁrﬁw1m

3 %) ww d . @ T Fafee wEEE @ faw ag e 8 o g
701617%%%%%8@180%%@@?73&7%%%%

3 700 &3 w1
qaanzmsné??rmwmmﬁ
9Ra 3 Fafma e ST | | \' ©12,00,0001
eaeqmmﬁwaﬁam B e '8,00’000‘!
W‘ﬂ:ﬁma"rmﬂmm % | 13,00,000 ¥
?Tq‘l’wﬁaa%@‘l‘vﬂm Gﬁﬁsﬁwﬁﬁaﬁ 5,50,000?
9 H iz gffem 9 Afdn dE @R W N = 1300
2017-1% % Fratror onf G @Rt wehw O EY MR A '
or | \
(319 | i"w-

(a) s Previous yeyy always a 12 month period 7 State any fwo instances whie "

Of 4 previous yeyr i assessed in the previous year itself,
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b) Harmeet K A
( aur is a person of Indian origin. settled in Canada. During the financial year

2
' 38:1]6 1\14;:16 20(;1:1 ;L to visit India on 30th September and went back to Canada on
o 1 - During the previous ycar 2015-16, she visited India for 210 days.

Prior to lw she visited India during PEVious year 2008-09 for 210 days. For the previous
year:2016-17, the following was reported : | - ‘

~ Income from a business in India et Rs. 12.00,000
Vllnterest,on savings account with State Bank of India in India =~ Rs. 35 000
. Net Agricultural Income inIndia - - ‘ . Rs. 6,00,000

- Harmeet spent Rs. 12,000 on the medlcal treatment of her dependent brother who is

suffering from blindness (100% loss of vision). Compute tax liability of Harmeet for the
7

assessment year 2017-18 assuming she is 65 years of age.
(a)wnﬁaﬁﬁﬁalzﬂﬁaﬁ% 7ﬁamﬂmmqﬁaﬁﬁaﬁ“
T:faﬁfrﬁufﬁaﬁmﬁ% L
(a>ﬁﬁaﬁnmmaﬁaﬁa%ﬁrmﬁ@ﬁ%mﬁaaﬁzomwa#
3oﬁqamaﬁa€mmam‘ai’r<30qﬁ 2017#%@11@135320153
'qﬁtﬁ%maﬁ2101%?@1@6%@20080913[@%?&210%?@1 = 8
aﬁzmenﬁﬁmﬁf@ﬂﬁm’éme: 4

'mﬁw@m
'@zaﬁmmﬁ@mﬁmmm
o § g PO

g . ﬁa%a@mﬁsﬁuﬁ@rﬁm%(lomqﬁa@mmﬁmmlooo
A -ﬁ.mluzmﬁ'gqﬁazssaﬁﬁ%ﬁu’maﬁzow .18 T I HRAS

T SR

2/ Anshika, aged 58 years,
‘ / Basic Salary—Rs 80,000 p.m. 4 y

| | |

i
(u') Dearness Allowance——lO% of basic saidry (formmg part of Rcttrement Beneﬁts)

m. (rent pzud Rs. 20 000 p.m. in De\hx) |
‘. P

12,00,000 %

35,000 2.
6,00,000 T

is cmploycd with bBC Ltd., the remunera;io"n includes ¢ . g )

(lll') House Rent allowance-——Rs 24, 000 p
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s
{iv) Employer’s contribution to Nati )

ery month.

)nal Pension Scheme (NPS)—Rs. 10,000 p.ml.' Ang;
s b |
contributes an equal amount eV '

(v) Motor car facility for official d private use. The car, 1200 cc, (cost Rs. 7,00 000.
is owned by Employer. Running ¢ and maintenance cost of Rs. 1,10,000 ' p.a. is alsop
by employer. Anshika pays Rsﬁ*600 p.m. to the employer for use of this facility,

(vi) The only other income of Ans]uka is mterest on ﬁxed deposit—Rs. 82, 000,

e

(vi) She paid/deposited : g
(@) Tuition fee of Rs. 30, 000 for 2 ch11dren
(b) Rs 40,000 in Sukanya Samnddh1 Scheme |
(c) Patd mediclaim premium of Rs 10 000 each for herself and husband.
Compute Anshika’s tax liability for the Assessment Year 2017-18 | Il
stsﬂmc%ﬁ%%mﬁaﬁaaﬁwﬁm% |
() TEE W —80,000 % W W -
(i) FETE WW—10% TR a?ﬂm (7® ﬁzmﬁz Y H %ﬁ few %)
(i) Te fEmE w—24,000 %, ;rl%y e (feeett # foFmn 20,000 T W )

(iv) mwa\mmpsﬁﬁmmmwoow Wi w1 i Ho
TR T F AR ] §

(v) mmﬁgﬁmmaﬂiﬁﬁﬁmﬂ%m%nmlzowcﬁ% |
7,00,000 %.) Friem =% %) ofemer @R TEw@E @ 1,10,000 3 uﬁr?ﬂf‘@

ﬁmaﬁw%mwgﬁmemﬁﬁmﬁsoos vy g M
%

“’” AT F S a § y ofy W SE—82,000 T
(wi) 71 feq . {‘ |
)2 A ) :40,000«*- N

(a) WIWWﬁAOOOOF
(F) AT T sty oy e B O AfEEAA AR 15,000 .

Jﬁmﬂﬁﬁqﬁwqd201713$mmmaﬁmw'

]
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(3teram)

(a)’ Discuss the valuation rules ‘_for,the f“mished rent free accommodation in case of non '
govemment employees . ,

(6) X retired on Ist October 2016 after cOmpletmg 26 years and 9 months and received ¥
the following retirement benefits : .

(") Encashment of leave salary——Rs 4 69 200 for unvailed leave of 306 days (He was |
 entitled to a leave of 35 days fOr each completed year of service and no entitlement
~ for part of year) ' : :
(@) Gratulty under Payment of Gratlllty Act 1972—Rs 9,42,000. Before ret1remenf
~ his remuneration included : "8 " : _
(1) Basic salary—Rs 40,000 p. rn |
(2) Deamess allowance—25% of salary (60% part of retirement beneﬁts)
(3 Bonus—Rs. 5,000 pm. - ‘
) (4)" ‘Commission—Rs. 3, 000 p. m.
Compute the taxable amount of ret1rement beneﬁts i.e. leave salary and
gratuity. 7
(a7) wTeR FmeTgeR Wﬁ?ﬁﬁ@lﬁfﬁﬁf%fﬂ‘l@ﬁﬁﬂﬂﬁﬁ@l
() X &1 S 2016 I 26315l 9m‘e'$quﬁﬁmﬁamﬁzrﬁrqﬁrw“ﬁﬂﬁﬁﬁ

ﬁ::a%r%
0} gﬁg’tamqnalwwzooa BOGEHHﬁWﬁﬁT?%ﬁQi (T® W

s R gl O T R S F R e
) lii) gt Hfufam. 1972 & at%ﬂ'—fﬂ%aélm gnﬁﬁ942000 sueatﬁqfaa?

Sy el R s @ L |
) eTeRE 340, 000 %. e Vi IR L
@ TR A 9 H-25% ‘('609_/03?@ % oM %

(3)' |
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 exemption av@ilable under section 10(5) in respect of leaye '{raVei&
note on ¢ ; | | |
3

: holl"cs First house, & ommerCIal property was constructed on 15 10-201 5

of Rs. 10,00, 000 "‘ 'sed on 1- 42013 @ 12% pa. The entire loan wag
31 3-2016. This house was let out on a monthly rent of Rs. 25 000 from
nn ng On 1-6- 2016 ren3was ra1sed to Rs 28,000 p.m. The house remamed

3 months startmg from '1-1-201 7 durmg the prevmus year. The other details

f-',

Rs. 2,50,000 p.a.

wn

B Rs. 3,12,000 pa.-
“Rs. 3,00,000 pa.
Rs. 25,000

Rs. 39,000

ng house is’ occupled by X’
g

2 Wlth a loan raised f; p” SBI Housmg Fmance repayable in 240 equated

? mcnts [EMIs), Dun rr ; the prevxous year 2016- 17X pald aggregatc EMIs

3 000 whlch 1nclude rmcxpal amount of Rs. 80,000 and remaining

for hlS own re51dence ThlS house was pm‘chased
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\

4‘(a)xa‘raﬁwwrtﬁ%|um11§, Wwﬁmﬁ%wmmm
o, a‘rwﬁmoooow ﬁﬂ@ru-zonﬁﬂ%mm’mﬁmwu |
™ 3132016@ Rl T o wmmﬂﬂﬁ 25,000 %. wfy HE
el w331 feen T 162016§mftsﬁ‘(rq128000'5 T ™z F7 fe 7
7% W 3@%#%@112017%@ryﬁm|maﬁmmﬁq

e L

HEIS 5 39000'6

~ mmxmmﬁmﬁmwfﬁmm%l%wm11-201

w = 1 2016.17 % 3"“" X :
"~ .
\EMI%E’T A T | T R

? xﬁ TGS @ 3,00,000 wan\x ﬁ m-ﬁtﬁw ad. 2017 lq}m
W‘Iﬁ T o aﬁfml |

Ui AN

P.T.O.
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-
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o
s

Scanned with CamScanner



Gy ( 8)
\ L o b
iy (3reram)
X and Y ard paﬁnefs ina 'law_ firm @nd share profit equaliy. They maintain their éccoum(;
on cash basis and have Prep ared th following account for previous year 2016f17 C :
Payments - o S 7 } ‘-R_eceipts y _Rs.‘ |
Rent of Office R 6,000 i. Professional Receipts (16-17) 50’00,000{‘
Salary to staff .. . 18,00,0j \ I”rbfessional Receipt#-(lS-lG) 5,00000f
Office Expenses - | 4000 ‘Dividends. from Indian Companies 12,0000k
| -l M.iscel]anéous Expenses by 12,00,0 Proceeds from sales 0f>lz_1'n.d _ 8,00,000
| Purchasé of Computers 1,00,0 1 |
= Expenses on sale of land - 20,0 “
:_lPurchases of cfﬁée Furniture .' 2,00,0
emuneration to X . 15,00,00
\emuneration to Y 15,00,00
‘ onation to PMNRF i 2,00,00
nk Deposits - . 9,86,06 . 54
| Toml 85,00,00 L . Total 850000}
Other information ? - .

e o T ' ' Jant
() Computers were purchageq on 6-10-2016 and opening value of relevant block of P

and machinery wés- Rs. 80,000 te of depreciation 60%).

. . ). L . g e e blOCk
(i)  Furniture was purchased on | -1.7017. No other furmfure_ item was there in th

(rate of depreciation 10%). .

\ 1 . -‘ -'. .-f V ed

.‘ iy . . b el' ) : ! ‘~ ' » ] o L hﬂ5 fu‘ﬁ“ .
"\ (i) Remuneration fo-partners 18 paid 1 per deed of partnership and the firm (..
) . r ks i ‘\. - & = :

its cost of ac_qulsmgnﬁ

Rs. 9,00,000, . R
‘ o
‘ . | . ) . -18; i:.
rompute ax liabily ¢ partneship fir® for theAY 201715, .-
| - MR Scanriéd with CamScanner
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xaﬁYWﬂﬁW%H@m%Iémwmaﬂwmmg,@
arsf201617$’r‘m1‘=r=r@m3qaw%

’T{"Fﬂﬁ T. _ iarrq . 3.
A 600000 | W wiftel (16-17) 60,00,000
g% F 18,00,000 ﬁ?‘lax wﬁaﬂ (15- l6) ~5,00,000
e = ’ 4,00,000- mﬁa‘l 3 e 12,00,000
g4 =4 112,00,000 ‘%ﬁq %feram & i@ s,oo,doo
FIR T - 1,00,000 10 g il
o @ e W 20000 .
e TR W 200,000
(W afEEE 15,00,000
y B Tt 15,00,000
PMNRF‘ AT ‘2,00,006_

Hd | 35,00,0'00-' %T'T | 8 85,00,600

(z) 6102016@
T (T T 60%) |
.(u) Geffere w9 foran T 141
(m) q@mﬁaﬁmﬁmmﬁmm

ot T #
U")‘@WWNWT@%EWWWWWWWNOOOO

'-m"""“k“laﬁzolﬂs a‘»‘ﬁmmsﬁmﬁﬁﬁ

ol ./

\

.\

ﬁﬁm

®

m@ﬁénﬂaﬂtmaﬁ’mmﬁﬁﬁmmﬁwwsomov

5017, ‘mﬁmmﬁﬂaﬁml (ﬁmrazﬁ
ﬁmwaﬂrmﬁw s4ﬁ
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| 64
nopt‘”Y si ' in Delhi on 1-6- 2016 for Rs 50 ,00,000. 1
0. He spént Rs. 1,00, sy
duty value is Rs. it }' L 01050 In connection with the transfer of th
ac ‘¢ 1n =
¢ Oy him on 15-10-1979 for Rs. 2,00,000. e : incyrrg) |/

property. This pmpul\ was §
- 1980-81 and Rs. 1,00,000 during FY 2015.1¢ o, the (5)
l

Rs. 80.000 during the [ll'ldll(.ldl yed u
property. Fair market value of this property on 1-4-1981 was Rs. 300,09

as. follows :
; 41

(<10 )

X sells his comnuuld I
54.00.0(

improvement of this

X uulmd the net sal¢ proceeds ‘
@) PUI‘ChBSLd 4 residential houae‘pmpeny ln Delhi for Rs 30 X000 on & 1-2017

(i) Invested Rs. 10,00, 000 in the! bonds of National nghway Authonty on 10-1 2017
(i) Donated Rs. 1,00,000 to RaJlV Gandhl Foundation. -

(iv) Gifted the remaining amount to hlS daughter |
Compute X's tax liability assummg he has no other 1ncome and was bom or

‘1"‘1937 i : [ ‘. . ;

FY 1 ; C St'Inflatibh'Index gl B GGE T |
1981-82 - 1000 TR N k
2015-16 1081 S |
2016-17 o B 195 e

X 3 S afufes Wty o feedt fr;ﬁwm% ﬁls-zolﬁwsoooooos ﬁaan
‘&T?’f 1000003 wﬁrﬁmmmﬁl

T T S A 54,00,000 % 1
7w 15-10:1979 = 3‘9% ol 2,
.000? Y wﬁ,agmﬁmmn

“6 ol X3 ﬁﬁq a@ E) ﬁtﬂ%ﬂ“@a O A

qﬁv_&ﬂ
‘mﬁr 30,00,000 % # @I

(i)  6-1-2017 ﬁ foeeht & :
(i) 10-1-2017 1 Jyrey g,ga ol @ wieg 10,00,000 .. fafe fadi\

(iif)y g e TRV & . ,-1.'.' 4
(iv) ¥ Tfor 3 ELr] T ‘3}2 .
31-3-1957 =} o
o W g
1981-82 |
2015-16 - ’
2016-17
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‘ | | 7764
: |'(3§217:11’)
(a) . What is not a capital asset.? . )

(b)) XLtd owns a block of plant and machme

.M3. The followmg information is avallabl ; ;espect Of thls block :

| \ ,'
J

' 016——Rs 25 00,000

(i) Rate of deprec1atlon—15%
(i) ertten down value of block on 1-4=

(iilj A new machine M4 was acqu1red_ ; ‘;;
“to use on 12-12-2016. o .

(iv) Machine Mi was sold to a scrap :

(v) '.Machme M2 and M3 Were sold fof Rs.

' Compute amount of depremanon avallab] prev1ous year 2016-17 and written dowr

value of the block on _,1 -4- 20.17 and”_

* depreciation. -

(aq)qgeﬂﬂaamﬁwﬁ%7 ‘

(3) X fa = ﬁﬂuﬁﬂﬁ%@wﬁ@mmﬂﬁ %_Ml M2 3R M3 1 =
%nwm%mﬁﬁmﬁf‘r‘@a W%

1§ gams/loss if any. Ignore additionz

| (v) 1022017 <l M2 M3 18,00, ‘ T # aﬂ’T min \

9§ v 2016-17 % fag fomme. ﬁﬂﬁmaﬁﬁqﬁﬂ 1—4”017ﬁ .
T § =lF FY HHA A RIS W@ﬂmwﬁ,‘fﬁﬁacm
i

; * P.T.O-

|
!
{
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(@) . Discuss'the provisions regardiig set off and carry forward of non-speculative business |

loss. 6 :

(b) Explain the provisions relatingito clubbing of income of a minor child under section
| l

64(1A): S

(3) g (Set-off) ai‘rt %rﬁ

(F) uR 64(1A) & a?iﬁﬂ
L2

(b) Explain the meaning of ‘Agric v e on the ba31s of Judgement dellvered by supreme};
y Kumar Sahas Roy T i 5

(a)msoaG%mﬁamwaﬁmﬁz@mﬁwmﬁﬁm

(a)gﬂnaﬁémwﬁmw w%ﬁﬂhﬁaﬂmm‘gﬁsﬂmaﬁm
@TWWI k.

am

7764 ' ) i . r{ \
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'-5[ This question» paper contains 8 printed page§] |
rour Roll No. | ‘ . Iooooooooollo:ooo"lllo’i0:0‘:{0,‘0" ‘
51, No. of Q. Paper : 7765 HC o

Jnique Paper" Code :iiitis! 22411303

lame of the Course St B Com (Honours) ik
lame of the Paper et Management Prmmples

"' and Apphcatmns o
emester ot [ '“,‘:‘"IH;T‘ i
fime : 3 HOﬁrS Maximum Marks : .75

nstructxons for Candidates . _‘ Ay

(a) Write your Roll No. on the top 1mmed1ate1y"
on receipt of this question paper... = |

%%rraﬂ—qa%maﬁwgwaﬁéwaw

llllllllll

~i

(b) Attempt all five questmns Questlon l(a)%'.
is mandatory for all.

gqﬁrmg#saﬁunﬂ 1(apmﬁ%

+ (a) New entrant Reliance Jio dlsrupted Indlan
- Telecom sector through its aggressive
pricing and offering of free calls for lifetime

to Indian customers. First it offered
unl1m1ted data, calls and SMS totally free -

PTO
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on all over India basis for 7 months and
after that it introduced cheapest: datg
plans with free voice calls and SMS thgt
affected market leader Airtel and €Xisting
players like Vodafone, ldea and BSNLy
market share and revenues badly. Airte]

responded by offering same data plans with '
free calls to its customers to retain ltj |

market share and to counter Jio onslaught
There are four basic strategies namely -
Stability strategy, Growth strategy
Retrenchment strategy and Combinatio

- strategy adopted by companies as per leve]

of competition and market share.

W%ﬁﬂqﬁwﬁﬂ%ﬁﬂmﬁmﬁ"_

Fl Remas R ¥ 9RAg aeRt ® ST
esﬁlﬁ'raﬁna eﬁtﬁﬂaﬂﬂ'{ % AN ﬁf

fam%weaarsaefmfnamﬁ%aﬁ
THIATY | oTe: ngiwﬁmams
mﬁgﬁmf&mmaﬁrsﬂ%m
ST W N uees Rpar R o &
IR AR Rreme Reardy ST ATH,
M dowoew & aome & e O
W g wE awRE Hv o) @@ T
mw@rmﬁmzﬁrwmﬂ%m
. | )
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T W IR R4l & O STeRHYT @1 e
T D | AR B W) IR AN § Redard
¥ TIEAR HIFEL FA AU T A gw
LAl B STIETET Ama: Raxar wrif,
g TR, S A TR oA e
L R '
(i) Which strategy A:rtel is adoptmg in
|- ™ - current scenario and why ?
'.-ﬁiﬁgrqﬁ'gazrﬁﬁaﬁaﬁsatﬂmﬁfﬁ
(i) As .a. Marketmg manager of Airtel
.. " which strategies you would like to
e ",7adopt in future to remaln market
.~ - .:leader in Indian telecom sector ?

f

;

N |
- < Yare & OO S & ®g F g
r

t

. oGt @ wRs § oA =ied

Fnﬁ HIEE . E’&ﬁw ﬁw H qrofre-aar

'(b) What is Envirdnmental Analysis and
Dlagnosm ? Explain the main techniques

., of . analyzing and diagnosing the

enwronment 7
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. OR

FeEr

p: | Explain various type's of intensive growty
- strategies, pointing out their advantage
and limitations.

ﬁmwﬁwq@w@ﬁﬁﬁm

2. (a) “Mahagement, is..the_‘ force which leads
Ve guides and directs'anf organization in th
accomplishment .of predetermine
objectives”. ' Discuss this statement an

<. give a suitable def1n1t10n of management

. i \ | 3
qaa@ﬁmaa%a‘rwmaﬁrﬁsn%#
AR B iR RS E ESUREIES] TELE
% Prome & 4 2ar B 5@ wu
BT ST ey i SUFT TR A
(b) "Contmgency approach to managemen'fl i
a common sense approach". Comment

“Waﬁ@?ﬁmﬁiﬁwwg&ﬁ
%I"ﬁ-’“il“ﬁq-'ﬂf\‘rrq| b

A
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"OR
SAear

(a) What trends do you forecast in the future
env_ironment of business ? Describe the
challenges and tasks these trends are

likely to create for managers. 8
T $ A gHiERer § o9 B mgia #
qEigAe ®a § 7 3 wafwEl seEst B e
R AR OiR FET B S B AR T

(b) Michacl E. ‘porter redefined the scope of
competition. through five forces. analysis.
* Explain this framework through supportive

example from any Indian industry/sector.
_ : -

mERe € @ A u= S CISENCES e
safr%zﬁmﬁ;eﬁaﬁmaa@wazm
& gHATHT IEEIT BT BT | -

3. (a) Whatis Matrix Organization ? In what types

of organization it is suitable ? Explain its
| 8

merits and demerits.

. N dmed @ A ¥ 7 R R D
Wﬁusaqgﬁam%?sﬂ%guﬁaﬁr |
qrqt @ ereAn i | | |

5 P.T.O. ,

|
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(b) Write notes on following :
Fr=idiee o fewferei fRifkag
(i) Span of management 4

(ii) - Delegation Vs Decentralisation

. OR .
| - Srear
(a) What are the causes of emergence of

1nforma1 groups ? How should a maridger |
handle these groups Pty gp e 8

SRS ag's‘f £ wm P F T E 7
Eﬂﬁﬁwwﬁ%ﬁwﬁmmn
(b) Write notes on following : R .

ﬁﬁﬁlﬁa'c‘rqrféuqﬁmm

{1 PI‘OJCCt Orgamsatmn Vs Matrix

. v ‘A

Orgamsatmn | 4
QAT S S Afera a:raw
(11) Principles of organizing | 3

| W%f@l@a
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4. Write notes-on any three of the following :
_ | 5><3
ﬁwﬁ@a ¥ A Rt T X RuPrl e
(i) ‘Horizontal Vs Vertical Integration
(11) Recruitment Vs Selectlon
Wl g TS
- (iii) Herzberg's two factor theory of motivation
- ARERT W OsSE-8 HRE f%ima '
- {iv) Situational leadersh1p theory
i%e:i%ma ﬁqa m@m |
OR e
. AT
(a) D1st1ngulsh between transactmnal
leadership and transformational
* leadership. Which of them would you
-recomme_nd for'Indian conditions ? .
HET?:T&!TT g fR SR ?rqrcr % eﬁt
,aarquwﬂeﬁwasnaﬁ%ﬁumsaﬁ
Rreest Ramfer &1 7

(b) What are barrlers to effectiive
communication ? How can these barriers

be overcome ? 7
MW%WWW%?FW
Fr &Y g¥ Be o W E 7

7 : P.T.O.
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5. (a) Why do employees resist control in
organizations ? How can management
make controls more acceptable to
employees ? | o | 3 8

FroT & B d@mew # HEard [ 6

g;%a=$t%'% ? yeiger RRE TR HEAAT B

(b) What do you understand by the term

«Market Value Added" ? How MVA

technique of control is different from EVA

technique ? Ry

T 1;@ A’ (MVA) - S/l | ST9

e & 7 FEgEer B MVA T&1e 6d J8R
EVA @ @ e R 7 .

- OR
R
Write notes on any three of the following 5 ’

_ | (o x3
Frfeiae & 9 e d9 o feoitrr i ¢
(i) Return on Investment (ROI) |

AT 9 uiRee (ROI)- |
(ii) Distinction between MIS and DSS |
o9 ofE T X € oF uw ¥ ofa} }
(iii) Likert's Scale theory. | |
(iv) Distinction between Formal and Informal
Communication. ~ |
e ST FEies d@e ¥ ofey

8 | 8400
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This question paper contains 8 printed pages.]

Your Roll NO..heseresenes

}I No. of Question Paper : 7823 HC

Yaique Paper Code : 22413303

fame of the Paper i E-Marketing

‘[came of the Course : B.Com. (H) Skill Enhancement
Course

;?’:emester » III

?uration: 3 Hours Maximum Marks : 75

:mstructi-(/)ns for Candidates

Write your Roll No. on the top immediately on receipt of
this question paper. -+

Attempt all questions. All parts of a question must be
attempted together.

Answers should be brief and supported with examples,
wherever applicable.

Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

= & fog fde

T8 W - 99 & fie & 3 Ry e iR e ® s s
ferfag |

avft ywr Fifore | weer @ |eft wml A wer Wy wIi |

HIN T T I Gl Ud OET Siraden 8 I @ WA AR |
T WS- 7 I s A 78 fandl ven s W g, Al @i
I & W gar B ey | P T.O.
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1. (a) Define marketing concept. How is it differen; ¢ |
. ro

selling concept?

|
(b) What kind of positioning strategies can be ygeq by
e-marketer? Briefly explain.

'OR

(a) Explain the various levels of segmentation.

(b) Distinguish between e-marketing and traditioq
marketing. (8,

(%) o e =it qiRvmr §ifSe | e daea T @
TR et 2 7

(@) 2-favur grr v v ot Rufaees wordfet =6 A
W g B 7 e ¥ ey |

Jrerar
(%) @& & RftFT w9 = 2R |

(@) {-Rwvm sk wrrw g ¥ st T@g |

2 () Take a product of your choice and evaluate hoW t

, f
Internet has affected its marketing mix in the pres©
times.

!
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' (b) Name the types of blogs and highlight the role played
r by them.

| OR

(a) What stages of buying process would an e-customer

engage in for owning the latest version of 3 branded
mobile phone?

:) (b) Distinguish between online PR and offline PR, (8,7)

(=) mmﬁmaﬁﬁ%qaﬂtiﬂﬁﬁ%q%m

msﬁﬁz%aﬁqﬁﬁlaﬁﬁvwﬁaaﬁwﬁaﬁm
7

(@) = = e sarse aﬁtaq%mﬁqmﬁaﬁﬁnaﬁw
‘f) THIfeTT |

/

(%) RT A= B w5 mﬁwfﬁmﬁéﬁ%ﬁw%-mﬁ
wO Wihar 1 TR JEeAas W oeAe ¥ BN 7

AT

(@) siFemsT PR o0 SifwemsT PR ¥ SR W |

Write short notes on the following (Attempt any Three)

(a) E-customers
P.T.O.
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(b) Online communities

(c¢) Direct marketing

(d) Tracking ROI for PPC-marketing (5%3=1 5‘
. |
freofe ¥ % Rl e w0 o el R

() =-TES |
(@) SierE e | f
(@) e R

(¥) ROI 3R PPC faqurT =t &asy |

4. (a) Outline the steps involved in designing a website. !
(b) According to you, which of the two is more effectiy

for marketing: Facebook or Whats App? Why? i
|
OR |

(a) Discuss about the various tools and techniques of vide

marketing.

(b) State the issues and challenges involved in e-m&

marketing, 8.7
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() e B RAET B ¥ W W w1 I o )

; (@) ST FGER fAuore & forg A F ¥ R sifven yemaf
BN PEge VAl ACHIT | Y 7

HAAT

() fa o & (Y= Steel sk oo @ R
\ SN | C :

(@) -3« v ¥ GEfm MR s AR 1 Seorkd Wil |

(a) Distinguish each of the following :
(i) B2C transactions and C2C transactions
(ii) Segmenting, targeting, and positioning

(iii) Online communities and Social networks

(iv) Market place and market space

(b) State the reasons for using digital technology and its

benefits to the marketers? (8,7)

OR

Case Study: Flipkart.com

n Indian e-commerce company headquartered

Flipkart is a ‘
as founded by Sachin Bansal

in Bangalore, Karnataka. It W
P.TO.

Scanned with CamScanner



7823 6

and Binny Bansal in 2007, both alumni of T, Deln;, g,
worked for amazon.com before quitting and founding ty,
own company. Initially it was funded by both Bansy]
themselves with Rs 4 Lakhs. In its initial years, it focyg
on online sale of books only, but later it expanded
" electronic goods and a variety of other products in
portfolio. Moreover, it offers multiple payment methods i
credit card, debit card, net banking, e-gift voucher, CC
and Cash Swipe on delivery. Today, Flipkart is among t
top 20 Indian e-tailers. The company came up with t
innovative idea of delivering its products in 2 days time a
with interest to be paid in case of any delay therein. A .
days return policy was also introduced to ensure that t
delivéred product is not faulty. The company made browsi
easy and user-friendly by comparing différent product mode
on the same webpage. The company offers various rebat
discounts, refunds, quantity deals, full finance@ 0"
Visualising an increasing potential in the Indian market, t

company aspires to become a leader in the online marke

(i) Do you think Flipkart should change its promotion
strategy in order to'become world class leader in t!
online market? Justify your answer.

(ii) Devise an effective promotion-mix for the compah
(iii) In which other Ps of marketing mix may Flipkart n¢¢
improvement?
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(iv) Name any other three e-tailers who compete with
$ Flipkart in the Indian market, (4,4,4,3)

(%) F=fofes & ¥ @ ¥ siw 9

() B2C &= 3R C2C o
‘ (i) e, wea Pufor v Rafy R
\ (iii) ST TR R AR e
(iv) whe =@ 3k e B

(@ )ﬁ%mﬁﬁﬁﬁwmaﬂ%aﬁtﬁmﬁaﬁaﬁm
R D FROT T |

reran
freme v e §-wEE BT 2 e e weew @
AR ¥ 2| TS SMURERT WA gEd iR =R @8a T 2007
AR AT o ord A Rt & W@ g ¥ IR X s
o { wE A o (B S & W T U | @
TE &t | ARA A TH IR 4 oG T o IR fhar o1 i
ﬁ%mm%mgﬁmﬁaﬁmﬁﬁwwaﬁa
ﬁmwaﬁmgﬁaﬁmﬁaﬁﬂﬁjﬁﬁmm
S v v @ o S @) e AR | @A 7 A

P.T.Q.
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&8, e @, Ao Afew, §- i agar COD 3R Ty v .
w@Ey & gy & | mfﬁmwémmﬁsﬂrf#ﬁ@m
W%lmﬁzﬁ?ﬁaﬁwﬁaﬁqﬁﬂﬁ%mm
W TE R S @ 9 B W A A A fy
30 R & qmE wer @ AT A @ e g @ g
TEART T IS SO A 2w A I R S g
Jus R AT St Afsdl @i geT TR e 38 ST i
s far | we BT weR w6 o, W2, o Ol 9d ay
AT T W R 0% R Y I w0 AT wE T | R
# 9gd g¢ WM @ I gU B AAAET TR ¥ 9w 7
F e A 2 |

(i) o feR ¥ o femad & siereT TR ¥ B o
AR T & oY I qaders oM ¥ 9RedT @
B | | | :

(ii) Wﬁ%ﬁ(’ﬂm@aﬁaﬁ#ﬁaﬁﬁa@aﬁﬁfvr

(iii) fovr-f & ffe = Ps ¥ Rewwd =t gur &t |
AT @ ?

(iv) fordl @ 370 $-2e® &1 99 SaET o WR4a 99K
freraente =1 Fepmaem oW W R |

(290
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This question paper contains 5 printed pages.
Your Roll NO, . ..ciiunissesnisssnsssssosss
’ﬁl' No. of Ques. Paper: 5457 H
Unique Paper Code : 241503
Name of Paper + Auditing
Name of Course : B.Com. (Hons.)
Semester 'V
Duration : 1.5 hours
Maximum Marks : 38

! (Write your Roll No. on the top immediately
on receipt of this question paper.)
(50 59T & e § s R @ Felfa
I W A FFAS f%iﬁa# )

NoTE:— Answers may be written either in English or in.
Hindi: but the same medium should be used

throughout the paper. .
§r“zuuvﬁ;-—s;'aq;W:rqsrawawira;fzi'?ﬁz:ngz?‘:%-a?qav
arr & AT SfeT @it Fad @ A T E

ST IRT |

Attempt all questions.

Marks are indicated against each question.

it JoA & I AT
’ mﬁmfé;afavmﬂ#ﬁ.’(fwé‘l

1. What is Auditing? What arc its advantages?
P. T. O.
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ARET T AT QAT € ? 9 9T e § )
Or (31<E)

“Agreement of Trial Balance does not . ensure tp,
error free accounts.” Comment with reasons.

mmﬁaﬁm%@?wgﬁ-tﬁ'@mqﬁﬁm

el 1" R Hfed feoft s | 5

-

2. (a) “Vouching is the backbone of auditing.” Expla‘in |
this statement. b T a0
St o e 5 4 # wg j 1 5@ F ]
Sl e Hifg ) | 5
(b) “Verification is sémething more than valuation of
assets and liabilities.” Discuss.

MY e Wt 17 e i 6
- ~ Or(31gam) '

(a) Differentiate between routine checking and test

checking. When does an auditor opt for test |
checking? | |

woww ek wastm ¥ s gy |
G-, F et o S qre 2 5

|
i
!

(b) What is meant by internal check system? Suggest a

suitable system of internal check for wage
payments. - '

Al ST g A e g wwey §2 weeid
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3. (a)

(v)

3
F IRt % U otaf siw @t swgwa g
TR | )

What are thc qualifications and disqualifications
of an auditor? ‘

AW qlasm wm Arareil el ewiael o
IRIE ST | 5
Can a properly appointed auditor be removed

before the expiry of his term? If so, explain in
brief the procedure of removal.

wﬁmmﬁfmé@qﬁ%aﬁm

aqaﬁ:mrcaaﬁ@%ﬁmmm%?aﬁ

(2)

(b)

e, @ m?rtr q azﬁ i m &l =T S |
6
| Or(amar)
Explain in brief the different types of audit
reports.

ﬁfwmaﬁéw—uﬁmﬁﬁﬁﬁnéwﬁ
m@rﬁﬁr@l i i 5

in
“Cost audit and financial - audxt are similar

various aspects.” Do- you agree vwnth the

statement?

—C (B r( M IR Jrar wian faf=
" ogrr o T U W WA
6

qeeeil # WA €
¥
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4. Present your views on any two of the following

giving
reasons:

Pl 5§ Rl & W o R e wifg

(a) The ‘auditor of Z Ltd. resigned after vajjq
appointment. The board of directors appointed
another auditor treating it as casual vacancy,

Z fafe & <@ wias ¥ dy fafs & ar
TR S feam 21 v HE 7§ T s
ﬁlﬁmm@mﬁ@rqﬁwzﬁﬁgﬁam |
Gl T o |
~ (b)

Mahesh and Ramesh invested in X Ltd. They lost

their investment. They sued ‘the auditor on the

-plea that auditor has given a clean audit report for
~ last few years for X Ltq. “ '

() The-auditors of XYZ

them. The auditors refused, |

Xyzwg%“mqﬁmﬁmfﬁmm'-l
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3 5457
| %ﬁ@qﬁwﬂfﬁmﬁfﬂaﬁmnﬁréﬁm
| amawwué@qﬁmﬁwaﬂﬁm

51/z><2
Or(aman)

Write short notes on any two of the following:

(a) Ownership of Audit Evidence

(b) Tax Audit

(c) Audit Committee.

e % 3 fardl 3 i o T

(a) AGHTRE T B TS

(b) T ATTIIEN | |
(c) w@Taden Wi | |  51ix2

700
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/ Your Roll No...cooraererees
‘;No. of Question Paper : 7766 HC
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\
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structions for Candidates

Write your Roll No. on the top immediately on receipt of

this question paper.

Attempt all questions.
ed together.

Answers may be written either in English or Hindi; but the
used throughout the paper.

7 All parts of a question must be attempt

same medium should be

i @ R flw
wm-w%ﬁaﬁﬁmﬁvmﬁﬂ%wmmmm

fofay |

, gedt yeT &I |
e & @eft W g Ay i |
mm—wwwmm%WWWﬁW,ﬁmw
IeR @1 eAw U & e Jiey | 0
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B

(
(a) “Marketing is no more a function of
department only.” Explain the statement ang

the nature and importance of marketing.

market]'
also disg;

(b) “To be successful a marketer needs to judiciously 3
all the elements of marketing?” Briefly explain the
elements giving examples.

(
OR

(a) Explain the evolution of marketing concepts. e

(b) Why is it necessary to understand marketi

environment? Explain the demographic and econom

environmental factors that affect the marketir
decisions. (7
(%) “ﬁwmm%aaﬁqmﬁﬂmwmﬁaﬁm%l”%m

A T T R A @ kv @ AR
T |
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| (@) “faquie TETERYT SRR B A srawaes 2 17 e
o gE PR W wRE axy A sHiRea s o
i HRehl i R T |

(a) Explain the various stages in consumer buying process.
Do consumers need to pass through all stages while
buying all the products? Give reasons in support of your

answer. (8)

~

(b) What is meant by product positioning? Briefly discuss
the major bases of positioning a product. (7)

OR

(a) What is market segmentation? Suggest and explain
suitable bases to segment market for the following

% products. (8)
(i) Car
(i1) Cosmetics

(b) Explain the cultural and social factors affecting

consumer buying behaviour. (7)

(&) i w5 AT @ AR SEest @ e i | R
Sy E E IR w Ele R e s
J Ol FETEd B 7 FOY I D WET W HRUT TEIA
HIfT |

)

Pe'E .6,
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(a)maﬁuﬁfﬁm%mwmg?wﬁ:
ﬁuﬁw%ugiaawﬁa%ﬁ@m?fﬁ—awml' |

JTqdar

(=) mﬁ@wwﬁm%?ﬁwﬁrﬁaﬁmﬁ%m
® TR & IIGFT U R G IR
(i) ==
(i) s gt

(@) wﬁw%mwaﬁmﬂﬁﬁaﬂ%a@m@m:
AT ShiRehl @l RS HIWY |

3. (a) Explain Product Life Cycle (PLC) with the help
diagram. What strategies will a marketer use in t
maturity stage of PLC of a product? (

(b) Explain the following :
(i) Psychological Pricing

(i) Discounts and Rebates

OR

(a) Explain the difference between individual branding *
he

(8

umbrella branding giving examples. Discuss
advantages and disadvantages.

: ' . e § an
(b) Differentiate between skimming-the-creatt =
i 101 . o ¢ lno'
penetration pricing. In which situations these at® =

suitable? 1
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1

166 s

| (F) I a1 =rRe (PLC) 3mw@ =i #eg & i |

H WART HAT ?

(@) F=ffiaa &t e i :
(i) WS @ P
(i) =g 3k Remd

SRAAT

() Fafraer ST 3R oaQ SR ¥ I I FY AR D S
FfE | @@ O AR AW F o D

(@) RefET-T - 3K e e Fufer § sfaw sam=g | &
fafedl ¥ ¥ TR R ITIH B T 7

(a) Explain the communication process used in the promotion

of goods and services. " (8)

(b) Briefly explain the various elements of distribution

(7

logistics.
OR

ased retailing in

(8)

(a) Discuss the major types of non-store b
India giving examples.

al tools used by

(7)

(b) Briefly explain the various promotion

the modern day marketer.

P.T.O.
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() azgaﬁaﬁr%msﬁ%aﬁﬁaaﬁr#wmq\, :
LRAT I |

(@) e Fafm & Re ool @ 98 ¥ e ae

5. Write short notes on any three of the following :

(i) Direct Marketing

(i) Green Marketing

(ii1) Push and Pull strategies of Promotion
(iv) Functions of packaging and labelling (3.3
Frfafes ¥ ¥ sl dw w s RoiE ke
(i) wer fagoe

(i) =Ra fague
(iii) et & T R
(iv) d=fmr sk AaferT @Rt
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&7 9T YT HJHEHIE ferfed 1)

NortEe :— Answers may be written either in English or in Hindi,

) but the same medium should be used throughout
the paper.

Raqoft : z@ go7-gF @1 IOX AT a1 =T fEH gE WmT
¥ Aiferd; af @t oo @ ArEEd UF & BT
qMeq |

Attempt all questions. All questions carry equal marks.

Use of simple calculator is allowed.

aift go7 GifFard &1 &t ge @ o T &
AT GO T FET AT &

P.T.O.
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1. (a) Explain the traditional methods of evaluating long te

projects.

qepiferen aRaTEST & qeriET @ gt
S AT BT |

(b) A company is planning to replace a machine which ;
required for 4 more years. Its book value js R

1,60,000 and it will be fully depreciated at the end ]

expected to generate revenue of Rs 9,20,000 per ye

- and incur annual expenses of Rs 5,80,000. Additional

. the company is 30% and cost of capital is 15%. Advise

the company about the replacement.

T FUA TH AT B wfereeni e aredt & Rt
4 o o & Rl SR ¥ | S Qe e 1,60,000
%o ¥ A g 2 af 9w yofa: eEf w Rl
Enﬁmlugzlaff%amf)?oooosoqﬁnq‘maﬂ’
FHE 3 T U 3,80,000 To gﬁasf@;fe,mnrl aﬂzm'

3]

7767
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RrEToT TR 1,20,000 o & It 6 4 o a@ g7 &
ST | T 4,80,000 To TN arelt AN g1 Ufereanfu
Rrar o Gehan & | g usher & ufer ad 9,20,000 %o
AT IS 819 @l SIS & of 4 W 5,80,000 GO
qftfs @d oy R 7 Adie @fd o & @
9,00,000 To &I SARIRERT Yot & SR el | 7
799 W Ie@ 80,000 Fo giad @ & ¥ T

ST aies A 9y & Sfd H g JEw Ied 1,60,000

Fo FYERT e & T B B ST & oY | B

& T W 30% A o B A 15% T | BE B

i & SR W G| 11
| Or (/) |

~ (a) Certainty equivalent approach is theoretically superior

to the Risk adjuﬁted discount rate. Do you agree?
P wag Saitd w9 H SiEH T aeT
A IO T T A qEH &? 4

(b) A company is considering a proposal for production

of a new product. The company expects to sell 1,00,000
units of the new product each year at a selling price of
Rs 5 per unit. Variable cost will be Rs 2 per unit.
Regardless of the level of production, the company
will incur cash cost of Rs. 50,000 per year if project 1s
undertaken. The machine for making of the product
will cost Rs. 5,00,000 and can be sold for Rs 60,000

3 P.T.O.
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after the end of its life of 5 years. Additional WOrk. ]
capital required will be Rs 50,000, Overheaq c
allocated to the new pmduct will be Rs. 24 0()0
year. Tax rate is 30% and cost of capital for i
company is 15%. The company charges dEpreciat"z
at 25% of the written down value. Should the comp
buy the new machine? 1
T FH OF Y I & T F G 7 e
W | S B IH T IATE HY 100000?{%?9'% _
I B S ¥ AN gH fer B 5 w0 o «'
& 9t @M 2 Bo Uy gfie B s 3 =
W M T d T HT BN 50,000 To Uiy = --{
T T FA u, af g Rdiown B o o
| IdIE ®N A B 7T B BT 5,00,000 Fo =
T8 5 AT & e 2 TRT & 1T 60,000 Fo
A S w | sfiReR s $9f 50,000 wo
T BRI SuRed dnm, St AT sa gv sl
24,000 Bo s €t | & @ X 30% ¥ ok T 3
fem &St & ame 159 %lfmﬁr‘era%@r%a?r%
TEE Fedl &1 o Fol W A wehe @i
wife 1

2. (a) Retained earnings are free of cost. Do you agree’

1767

G

afaenfea sl @md yaw ¥ e sy wewd

4
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(b) Following is the capital sﬁucture_ of XYZ Ltd.:
Equity share capital

(face value Rs. 10 .eac'h) Rs. 15,00,000
8% Debentures (face value Rs 100) Rs. 4,00,000
12% Preference shares (face value Rs. 100)‘ Rs. 4,00,000
10% Term loan | ~ Rs. 7,00,000

Rs. 30,00,000

The company paid a dividend of Rs. 3 per share last

year. The dividends are expected to grow at 5% per
annum. Tax rate applicable to the company is 30%.
All securities are traded in the capital market and the
recent market prices are:

Equity Shares - Rs. 15

Debentures | - Rs. 80

Preference Shares Rs. 100
Find out the weighted average cost of capital using
book value weights and market value weights.
vz ffede @ e aE e ©

. _ %0

SRprdt dax ot (sifehd T 10 %0 gfy)  15,00,000
89, faa=ay (affee Tged 100 ®° gfc) 4,00,000
199, aiferaT gra (aifeRd e 100 ©O gfer) 4,00,000

10% 3Taferd F 7,00,000
30,00,000

7767 5 P.T.O.
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sl 9 fawdr a9 oo ufe Qo aratar fear ary 'f;m;f‘-*
b0 ufcrert oy we Ay g Ay aan b waAr ey
a0 wr s0v Byl uferyfedt wr A A o wrfnz
der & e ot gomn ye g i v 3

i) e 11 Tio
ey B0 40

sttt Qa 100 %o 4

el ey Wl ol A e arit wgA e m
it ot e e Ao | I
Or (319an) |

(a) Profit maximisation is a better criterion than wealt '.
maximisation. Do you agree? FExplain, b
anr sftrmafian, s aiferedigsr @ dear Fo
B e sna wena Ee o Aifam 4
(b) A company earns a profit of Rs. 3,00,000 per ammm'
after meeting its interest liability of Rs. 1,20,000 on 12%
debentures. The tax rate is 30%. The number of cquity
shares of Rs. 10 each is 80,000 and retained curuings,
amount (0 Rs. 12,00,000. The company proposes to take

up an expansion scheme for which a sum of R, 4,()(),()(0-:;

is required, It s anticipated that after expansion, the
company will be able to achieve the same return 0!!{
Investment as at present, The funds required for uxp;msiun,:
can be raised cither through debt at the rate of 12% or by

IK8UING eauity shavee af mae |
ssung equity shares al par. You are required to:

116G .
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(i) Compute the earning pér sharé, if:
' .* the additional funds were raised as debt
* the additional funds were raised by issue of equity

shares

- (i1) Advise the company as to'which source of finance

is .preferable.

Th B 12% art B3R W 1,20,000 To & =
AT & U A D 91€ 3,00,000 Fo WHTH @TH
HART & | T B W 30% ¥ 1 10 To A SRR Sl
T HET 80,000 ¥ AR wivrenfar St & TR 12,00,000
o ¥1 FT RN AT @AY & T @y
R g 4,00,000 To & sEt enft | gamem & &
R & & a1 S AT T S & sRw
T AT o A R o ara @ @ ¥ R
& T & & 12% & X F | B ® F g war
ST FHhaT & A1 §Ied W R SR Sl i |
SR B T

() R SR o & AR O

o+ ffed 9w W @ w9 § W Rear
o+ FfoRed g9 # R I G e T

frar ST
(11)35@@%&?3@3@%%%
IR § ga® Qg | 11

. | P.T.O.

Scanned with CamScanner



3‘ (a) Explain the relevance of time value of money».f
. ]

7767

- firm Y has 12.5% debentures of Rs. 12,00,000. Foljo.

financial decision making.

wing information about the two firms is available ¢
you: |
Particulars Xy Y |
Net operating income ~ Rs. 3,00,000 Rs. 3,00000
12.5% Debentures — Rs. 12,00,000
Equity Capitalization |
Rate . 0.15 0.16

Modigliani-Miller approach an investor who owns 10%=
equity shares of the overvalued firm will be better off 'j
switching his holding to the other firm. Also explain
when arbitrage proceés will come to an end.
& Hfar X AR Y, a9 Sifgw are ot # ol 8 1)
ST i A T ¥, daw @ a6t sea 5 Y
F UR 12,00,000 To B 199 AR ¥ S A
& A § Pt e @ T E

8
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IECIu ‘ X ¥

ﬁaﬁim‘vr SR 3,00,000 To  « 3,00,000 H©
12.5%%@7:11 - 12,00,000 %0
HEECINEIETE I 0.15 0.16

ﬁwﬁquﬁ%ﬁﬁaﬁﬁqmwmﬁﬁ
-mwa{fﬁ@mﬁtﬁﬁ%m%mw%’
et BT AR qE S e B gl o o <
mﬁmaﬁﬁq%mﬁéﬁmﬁwﬁ
1% | 11

' Or (/@) S

(a) Discuss the main decisions which are taken in financial

management.

oo e & fog o @ e Feld CECl

T 4
(b) The capital structure of Greaves Ltd consists of the

following:
Rs. 40,00,000

Rs. 30,00,000

Equity shares of Rs 10.each

10% Preference shares of Rs 100 each

12% Secured Debentures of Rs 100 each Rs. 20,00,000

The net sales for the company Were Rs 1.6 Crores. EBIT

ted to be 10% of sales. Corporate tax rate 18

is estima
00,000.

40%. Fixed cost is esumated to be Rs 50,

7167 9 P.T.O.
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() Draw the Income Statement of.Greaves Ltd.

(i1) Calculate the operating and financial leverages
(i) What will be the % change in EPS if EBIT rises by
10%? What will be the new EPS?
sy fofies &t Gt wwemn & Feafafes mive |
RS MW 10 o AW 40,00000 B0
10% SR SRR 100 To ATy 30,00,000 Fo
12% U&d f29==R 100 $o am@  20,00,000 Bo
FT & P Ry 16 S & & | EBIT A7a:
R & 10% R HF B B W 40% %lwﬁrﬁmﬁ
FFAEE: 50,00,000 To & T
() W=7 fofes &1 o e S e
(i) I &R fachia et @ oRea i)
(ii)EPS 9§ % uReds = &rm af¥ EBIT & #wa
| IO%EEGIT&T%?H?EEPSWT'@TW - 1

4. (a)-Explain the Baumol’s model of cash management.
ﬂmm%a@aqﬁaﬁwaﬁﬁql 4

(b) A company has an annual sale of Rs. 10 lakhs and

average collectlon perlod is 45 days. The company is 3

considering shift in its credit policy. Following

information is available:

Variable cost is 60% of sales. Fixed cost is Rs. 2 lakhs |

per annum. Current bad debts are 1%. Required return |

on investment is 20%.
7767 10
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The following are the estimates of different credit

policies:
Credit | Avera.ge . Increase in Bad
policy Collection Period ~ Sales debts
A 60 days Rs 50,000 2%
B 75 days Rs 80,000 3%
o 85 days  Rs 1,00,000 4%

Deterininé which credit policy the company should
adopt.

uF FO @ aftfe R 10 9@ ¥ ¥ 3 ofed e
safer 45 BT 51 aw o fee v # sEwd
3 W FER & W ¥ Frefied gEen Suwe
& ‘ '
Rt @ e @ 60% § | TR G 2 W o
gfad B = AN ® 0T 1% T PRAY W diBa
e 20% | = #fse difvidl & SIgA

Prefefaa &
P o zin-s I R
ae wmr 0 I e
A . 60 50000 To 2%
B 75 fe1 80,000 O 3%
c 85 fae 11,00,000 To 4%
.Eﬁﬁﬂﬁ%ﬁzﬁ%—aw‘ﬁ%ﬁaﬁmmm%q,ﬁufﬁa
HIAT | 11
1767 | 11 P.T.O.
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Or (W)
(a) stcuss various sources of working capital finance.

mﬁsﬁﬁwﬁﬁﬁ%ﬁﬁwmﬁaﬁﬁawaﬂﬁn.

(b) From the following information calculate:

(1) The operating cycle in days. Assume 360 days in ,-
year. " |

(i1) The amount of working capital required.
. Annual consumption of raw material Rs. 15,00,00}

Total purchases \ Rs.

w

[
‘G\
)
=
o
=)
o

Total cost of production Rs.

2]
o)
O
o
=
=)
S
S

Total cost of goods sold A Rs.

n
)
GOO
o
=
ey
S
S

Total cost of sales : Rs.

[72}

W
=
=,
S
o
S
S

‘Total sales '« . | Rs. 36,00,000.
| Average stock , i “
Raw material | ' 4 R 2,.50,000'
Work in progress ~ Rs. 1,50,000.
Finished goods = | Rs. 3,50,000
Average Debtors yie Rs. 3,50.000 1
~ Average Creditors " Rs. 2,50,000 |
Freifeifea gamell & wRerem 2o |
(i) gareT Ok e o a9 ¥ 360 R W
(ii) FrISr Goft @t stmavaw Ry
Fed AT B aftfr @ug 15,00,000 o

HA @S ' 16,00,000 Fo |
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S &1 FA A 25,00,000 EO

& T A B Fe A 28,00,000 GO
fosr ot @@ W@ ' 30,00,000 TGO
ENREE : 36,00,000 &0
AT Wi ‘
FHel qE o 2,50,000 TO
B T W 1,50,000 E0
REIC IO ‘ 3,50,000 %o
S et . 350,000 ®0
CIGCICE TG .2,50,000 o
11

5. (a) Explam the Gordon S Model of relevance of d1v1dend
qTHIST Sy Wi & WS AW 1 e STl 4
(b) Ashley International started a year ago with an equity
capital of Rs 20,00,000. _(jther relgvant details are given

below: |
Number of outstanding shares 20,000
Earnings of the company Rs. 2,00,000
Dividend paid Rs. 1,50,000
P/E ratio 12.5
(i) What is the dividend payout ratio of the company?

What is the market price of the share at this payout

ratio? Is the dividend payout ratio optimal according

to Walter’s model?

7767 - ' 13 P.T.O.
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- (i1) 'What is the P/E ratio at which dividend Payout ratioi_
- will have no effect on value of share?
(iif) What will be your decision if P/E ratio is 87
U S=AYMS o & I T 20,00,000 Fo 7 iﬁaﬁ
T e @ ot o e SR o o

T | ‘
SHET A B e | 20,000
HI W AT ' 2,00,000 o
e AT i 1,50,000 Fo
P/E STt g 125

G) 'Wqﬁwmfsr_&mmjmaw%? 5 Tomee

I W PR HT TR T F4T T FT Ao

ST & AR AN IAEE ST To2qw b7
(ﬁ)agP/E:angmW%ﬁﬂ?rwmﬁwagm

B AR F T WA T T |

(iii) 3maerr Fofa @& @nm oy prE U 8 ®? 11

Or (3rgan) | |

(a) What is stock dividend? What is its fationale?“

TiH AT AT B B SR BT w@y Y2 4
(b) A company has a capital of Rs. 100 lakhs with shares

of Rs. 100 each. The shares are currently quoted at par

in the market. The company is planning to declare a

dividend of Rs. 6 per share at the end of current financial

7767 14
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year which has just started. The rate of capitalization
for the risk clas§ to which the company belongs is 10%.
Using the MM Approach answer the following:
(i) Calculate the price of the share at the end of year if:
(1) Dividend is declared.
(2) Dividend is not declared.
be issued

(i) Calculate the number of shares to

assummg the company pays dividend, has net

income of Rs. 10 lakhs and makes new investment

of Rs. 20 lakhs during the year.
(iii) Find out the value of the firm if:

(1) Dividend ig declared.
. (2) Dividend is not declared. _
o F @ e 100 Fo I Sad & /Y 100 W@
To ¥l 3 S ST F g W ® T HYAT T,
ﬁﬁﬂﬂasf,a?wﬁgwgw%,aﬁmﬁmsad afa
ﬁmwﬂﬁmma&mw@%lmm

trﬁfiaﬁawfffaﬁr%wa?rf’pﬁwwaw%%lmm

meaﬂ%ﬁqﬁfﬁﬁmmm

()aézﬁramﬁrqwma?raﬁﬂawqﬁm#aﬁﬁﬂ
afe:

1767 15

P.T.O.
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(1)mﬁmmﬁmw%
.(2)aﬁﬁma‘rf&a#€fﬁsmw%u_
(ii)agmwﬁam%wmﬁm%,m.
'mlow%eﬂ“(aszomzmwﬁ%ﬁw

T A B, o B ST A S A e o
IR @i |
(iii) & 1 &7 107 HRT Al

(1) @rier eifter &Y fear mr &
(2) Wiy aifte =& fpar mar &

16 g.2o0

|
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‘his question paper contains 8+4 printed pages] B

" Roll No.

.No. of Question Paper 7770

JniquePapercOdé ok 224t7501 . | | | ‘nc
{ame of the Peper i Managcment.Accoun‘ting

Qalne of th_elceurse ': B.Com. (Hons.): : DSE

Sentester et | :. vV |

Duratibn:SHoufe; i s Makintuderks:’TS

(Write your Roll No. on the top immédz'ately on receipt-of this q'uéstion papei-.)
Attempt All questlons 4
F “Manaoement Accountmg is nothmg else but fi nanc1al and

~ cost accountln0 tallored to- the requlrements of manaoement

Cnttcally examine the statement SRR ' 15

) T AR HD Tl -6 ew T ﬁ SR
Wﬂﬁﬁuaﬂtwé@mﬁl"wamm
W a‘ﬂh TS |

e . Y, R
| () |
 What do you understand by Zelo Base Budgetmg ? How

is it different from tradltlonal budgetmg 2 Write in brlet its

process advantages and Innltatlons 15

PTO.
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( 2

wﬁamrﬁawﬁn@amwmgﬁ
“‘Wﬁﬂﬁﬁ?ﬂmfﬂ?%7'{ﬂﬁmm?
'mm@maﬁvmﬁﬁml

The folqumg are the figures of sales, cost and profit relatiné

to a manufacturing unit working. at 50% capacity -

- Details ' Amoupt (Rs.)
Salbs’. LT 20,00,000
_Direct‘-cos:t i e | -_ : 8,00,006' =
'Fgétory' ovérhe.;clds e .4,00‘,0_00
Ofﬁce ove,rheads-, o ¥ 2,06,060
Selling overheads . 300000
Profit o SN 3,00,000

,Every ]0%' iﬁcrease in sal’e's' lbeyond -50'% of capacity is
possible orﬂy after reduci'r'ig the price by 1% on the bas
level of 50% capa¢i£y .s'aies'. Material cost included in direc
cost at ’thi_s level. is 25%. W-ith every 10% increase in capacity
abové thislew)el of direct material comes down by 2%.‘Factof}“
o % and

overheads at this level -are fixed - to the extent of 50

rest are variable. Every 10% increase in output over thg present
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(it des ) : 1 W90
“level results in 2% increase in the office overheads. Selling *
overheads as a percent of ‘sales remain constant.

Prepare a budget at 80% capacity level considéring the above

mtonnatlon ‘ . _‘ | WL ; 15
HTT@q 31I°hS TF ﬁﬁﬁfﬂl?ﬂé %’l%{aﬁ ucl

E1

aﬁtm%ﬁ%ﬁrﬁsm%mmm@

gy @@ 800000

%EF@ -gqﬁ-aqq .“4’00-,000,,_'_, E i
et sl 20000

. f%lﬁ s - 300000
F{m ST om0

qm&?amﬁ mezs(yo%ﬁlﬂlﬁm

WHIO%JF%@':TW{’>%HEW | el

P.T.O.
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- gqﬁaqq gg-zat W 5owaf@HI ¥ aﬂ? Iy
- | EH‘THI L EFﬂaﬁ‘lowatﬁna ™ 3ﬂ§f¢q :.
# oo W ogfs A W 1 faw Rl ﬁxfté
'sﬁa$ﬁr % & 3 A Ted w
| SUEER o % 3?{THR T 80% &I w TF

(31ra)

(a) \Frolhn thc followiﬁo' -d"ota‘ . calcuiatc ‘Activity Ratio,
| ’Capac1ty Ratlo and Efﬁmency Ratlo .
. A factory manufactures two productc ‘A’ and B’

' St_andard t1mc to-manufacture product A is 2 ‘hours and
product .B.- is 10"1"10L.11‘S The budoeted and actuj
'productlon in October 2017 was as follows e

-Products Budgcted Production- Actual Productiom

A 30 125 Units 100 Units
TR 30 Units 24 Units
~ Total actual hours worked were 660. S8

(b) - State the main distinction between standard costing and!

~ budgetory control. T ; 6
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7770

(1) frfafea Eﬁfaﬁigi"aﬁ- ST X '7Tﬁ3ﬁaf1: S,
W STUN ot wTem SeuW A TE

FT

e U B AN
& ffo § AreE w99 2 w2 ¥ dAn IR B
& fag o $2 ¥ wwes ok AT By

EHEFEETI 2017 H fﬁt:ﬂ%ﬁfﬁzfr zn

SR EECE] Eicell 1aTzzrﬁaﬁa; JeaTe
A 128 eTeal 100 SHEAT
B - . 30 TEEA 24 365ﬁ§d?

AR 53 @ ar '€ﬁ$§ ’660 He o1
(%) HHA® A Eﬁ¥( LAl EREL A e I

T E ?

3. An analysis of ABC Ltd: led to the following ‘informétio.n :

_ Cost Element

Direct Maferial

Direct Lébour

Factory Overheads
Distribution Ovérhcads'

General Administration overheads

Variable Cost Fixed Cost

. Rs.

.32:8 |

284
12,6
4.1

.1

(% of sales) -

Rs.

~1.89,900
58.400
66.700

PTO.
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770
- Budgeted sales are Rs._ 18,50,000. You are réc;uired t
‘ p O3

determine :

(@) The break-even sales
~(b) " The profit at the' bud'gctéd sales : volume
(¢)  The plof't if actual sales drop by [0% and drop by

% ﬁom the budgeted sales e I5

_ABCLtd%@ﬁ?ﬁw@ﬁmﬁf@amvm,
T® oo

- A ‘F. F
TRy AHIe 7 | R R e e iy e
WO LA e i e

R Sfem . 126 S T
o ‘mﬁam CRESS SN 1) 58400
'ngﬁzﬁ?ﬂﬁwa SOl e
awee famt 18,50,000 . %l SIRE aﬁ&n%%ﬁ
EJIE LA '
(31)'14'@73 LS ﬁqaﬂ'
(A) weRE f%m»"r qfimmr . W Ik
| ('ﬂ) ’Jﬁ' Fﬁré‘é fER s% it -{Rﬁﬁﬁﬁ %@ﬁ {0%
A ?ﬂ'a'fﬂ e :

{
|
{
|

4
-4
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_77_70
'Ol'r
(3terem)
Calculate Material 'Varianccs :
Stand'ud mix for productlon : | |
_Matenal A 2 600 units T @ 15 Rs, per init
| Material B .+ 800 wunits @ 20 'Rs. per unit
_Materizﬂ_ C'_:yll_OOO units: _- | @ 25 Rs. per unit
.Actualim‘ix.for ‘prb_duction L= | P cet
. Material A 64d units’ @ ZOIRS..}.p-e‘r";.'ll:lit
Matt.e.rial_E;.' 960 u;1its' e @ 1‘5',Rs:"per. unit"

Y M’aterial % 840 umts @ 30 Rs. per unit
e Ea) fermrR (Varlances) ﬁ UMY ﬁﬁrq
SR W trmaﬂ% ﬁq%m |
'.WA:GOOW il @lSF‘JﬁTW
AT IB": soo-sws?ﬁ'*r @ 20 . LI EEco
HA C 1000%1‘941 @25'69%@3
'?ﬁﬂﬁ'—l F A g en
WA:MQS‘CFI’Q’QT | @20“6‘}[&1’33?!%
HT B :,,%ousw.s‘éﬁ @ 15 5. ‘;ﬁ%[ THTS
A C_:'8403'$I’5ﬁ @ 30 T wf TS

- P.T.O.
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‘ A"c‘ompany makeé an average prof‘t of Rs. 3.95 PEr unit gy,

g sellmn pr ice of Rs. 16 per plcce by producmg, 60,000 1

™

FEBWRESFASRSIE. +5 TP RSN T P

or 60% of the potennal capauty lts costs of sales per. pleCe 1

iS5t [ S, 15

‘ -Direct Materials Rs 25, Dil'eCt wages Rs. 1. 65 Works overhead

.Rs 5 (50% ﬁxed) Sales overhead 040 (25% varymo)

Durm0 the current year it mtends to produce the same number

- but antlolpates that the ﬂxed charges will go up by 10%, while

' _the rates of dlrect labour ‘and dlrect materlal w1ll mcrease by
9.33% __and 6% respectiv_ely. Thére .is ’no scope for increasino
th'e_s.'el]in0 prlce due to keen competmon Under this situation,

.t obtams from X Ltd. an offer for a further 20% of its capacity.

What should be the mlmmum price “to earn a profit of

Rs::2,15, OOO :

:.mna: &m?n F 60%"‘-1T GOOOOWW ﬁ"fﬁfﬁﬁ T

16 . . uﬁfﬂnaﬁﬁmwwgoxﬁ wﬁfﬁr«f'

aﬂmwwmﬁm%

THE WA 5 T, TAH TR 165 ., Hid SRS

5T (50% TRy, fa suRem 040 (25v TREGRAD)
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| (3 . , 0
wim A, q a A s @
'rITET@ ¥ W R YO 0% WG TN wEE e
s ol WM W W N Y 3.33% A 6%
s St uﬁa‘rﬁm‘%mﬁmwmﬁ
semd ¥ s wfifefa # x fa Th FEE Tl
'%ﬁwﬁmzo%mwmﬁmum
er@aﬁﬁﬁWﬁzlsoOOE %‘IHE% ?
.0"

(319130
_"AA factory has estlméted its overheads for the next year at '
Rs .6-’90’000". The :factory. \;_'orks 240 days in a year. It works
,for 8 ixdurs a day.: Thé totgil budgéted -;;rodqction‘i f;)r the &ear |
i 12,000 undil - | e
'Ac"tuva_l data ‘for ‘;(]‘ié mq‘n'tﬁ of . October 2(.)17  are give.n as

under :

Actual Overheads \ Rs. 54,000
Actual Output 5 ; - 1,060 units
~ Idle time S .4 hours

P.T.O.
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SR ~ Ty

Calculate :

: ‘(f) .Ov‘er.head cost Ivariance |

‘(ii)‘ Ovérhezid _expéndimre vdriahce

(iif)- _Over.l‘l‘ea.d é-fﬁc'iency.-varian‘ce_’

(IV) ldle timt;, \}alriance-‘, : St IS
< el T o o
'6000008 B Th a*sf fr q‘n‘aﬁ 2401%5{ mm
i azqua‘—rﬁ 8‘61% ohlq I '%'I ‘oréma—‘m'

Eeceies ol 12,000 v ¥1 |
'_ﬂﬁﬁaﬁzat 2017%%&?&@’%%9@{—‘

'11'&%

aﬂ?ri%ﬁ Eqﬁm'q oy 54,000 %-
W%Ol?ﬁ SFCIIE:I s ‘13060 ECT aqT%

O #r%ﬂz

(z)' mﬁw: (fil‘_lﬂ fereroT |
N0 e T foreror
i Tscrﬁa'm Eaett %rﬂm
(iv) ﬁf@h‘q T fEHTUTI
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(1 )., ke 7770

-(a') What 1s meant by, divisional perfoﬁnance measu‘r'ément /

Describe eny wo tecI?niques lleed for this pureoee._ 8
(B ‘ What 'ié 'thel1éfer. pricing - ? Whet are the methods of

transfer pncmo ")I DISCUSS m‘bnef | : P &
(31) ﬁﬁmﬁmmﬁmwﬁw% ?

ﬁ%‘f a‘r aar—i’m #1 39 :m’m %@ -omi——[ aﬁﬁw
(a) 31?R'UT (Transfer) T % 78 STH'(UT '{(Wﬂ

emaﬂee'veaqﬁavhaﬂml

_ Or :
(@

Divisier-l A of .XYZ Co. Lt’d.' has cuﬁeﬁtly a net inconﬁe of
Rs. 4 00, 000 p a. generated from an investment of Rs. 20 lakh.
The company’ requlres a minimum retum of 16% p.a. A new
| project is being 'censidered' by - the d1v1sn_on 'managelj of A -
which will entail inveetlnent of Rs. 2 lakh and‘ will S/ield an.n'ual

net income of Rs. 36,000. Evaluate the project using :

()  ROI method 8
(if) ~ Residual income method. -7

. PTO.
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, ( 12 ) -y | 7570
feaftom A, xvz . for. ﬁ‘cﬁqﬁﬂz amzxooooos
ﬁﬂ%ﬁvﬁﬁzoooooo% “Tm%lzsrq—qﬁm%
~.am g4 ﬂﬁ?ﬁ%l AH ﬁ:mvﬁ'q W—Hﬂﬁa—ﬁ@,
‘ﬁqﬁﬁwwmﬁaté%ﬁwﬁzoooooa
'aﬁ@ﬁﬁﬂaﬁﬁmm%oowé @Tﬂlqﬁzﬁw
o e
0. ROIﬁﬂ% q .

(ii) al‘q"irﬂ am aﬁ% @l

T sy X BT 5800

|
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: This-'qUEStiO“ paper c(‘)ntai_ns' 4+2 printed pages]

Roll No.

<G, No.'of Question Paper : 7774
AU~niq‘u‘e Paper-Cod;: i 224175.()5‘ L . HC
Name ofthe Paper - _ Financial Markets, Institutions and
: .Fi'na_ncial_ Services

Name of the .Cou}rse. i RiCoi: (Hons.)-DSE

Semester - - T |

Duration : 3 Hours | R ni ‘Max.imum Mérk§:75"
(Write y_ciur 'Iéoll No on tl_u% t;)p immediately on r'ece'ipt o..f;t}.zis gz?estion paper.)

(z9 Jv-19 & fiew ﬁaquﬁ:q ™ fruifE =M w emr FTFAE fafan 1)

Note :— Answers may be written either in English or in Hindi;

but the samé A.i‘ned_ium should be used through;)ut the
paper.. | ,
) : _ J . '
- feuuit :—s@rm—qﬂ;mw st ar o<t forelt W wren
- v W w s w ome T @ e

=Meq!l e

1 (@)  Explain the term ‘Financial [ntermediation’ and discuss

the functions performed by the financial intermediaries
y

in the Indian fingncial system, e d

|

* : | ' S SRS PO,

Scanned with CamScanner




®

&

(a)-

©
)
(9)

()

.ﬁlﬂcnﬁ?f 19hqlchc1|qi kad 3ﬁ Ertfh ?:Fﬂfam

el fow 1 STeRERTC a2 W

arfazﬁfaﬂmaﬁ ﬁ?ﬁﬂaaﬁamr«aﬂ?

7174
“Treasury bills are the ‘importa‘nt short term souree of
ﬁnanéé for ﬂ]@ gov‘ernmf;nt.” In the light of the statemem“
elxplain the featukres and types of tréasury bills. ¢
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DisCusS the relationship,betwéén financial system an

the economic developmemt ‘

Brleﬂy discuss the Call Money Marl\et as a componeh
/ |
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of the money mall\mt /

caisel
ggmnzﬁff%xﬁwﬁwww

1 i @% g |

Scanned with CamScanner



B3, ) - 7774

2 (a) .“‘RBI excrcises different monetary techniques to contfo]
the money supply in the market.” Discuss. - 7
(b)) Give an overview of the Indian Debt Market. 8

| \(a).“w 'ﬁ.g‘s\'r Aqfd & fE=o ®g RBI A
| Afw e §17 a
(@) w‘cﬁﬁ?;a (Debt) SR a'ﬁ TRE gt
(e
; (cj Briefly dlzscﬁss the»fu'nctions_ of NIM and explain how
NIM and the Stock Exchanges are interlinked. 7
(d) -DiScuss in brief any four 'in_iportan‘t dévelo;pments which
: | ha'd_ ﬁaﬁbened in the Indian S‘tockiMérket since 1991. 8
(®) NIM % fremered whr. i wRT SR W @
o7 R fF 9 NIM R WIie e
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(a) “B‘anlfs are an 'igﬁportant Financia! Intérmediary in
financial slyétem.;’,’ Discuss their role,

(b) .‘.Wlhat are t.hc' ci.iffcrent' kinds of life ahd. non-Jjg
‘insurance policiés in India ?V ;

| (27) ﬁﬁﬁqasrﬁw TH ﬂ%‘@l“fﬁﬁﬁ mn

B s *{ﬁqw Wl

(H)Wﬁﬁﬂaﬂaﬂiﬁ'{ﬁaﬁ‘m fafi

-ww%7

’ - |

6 O3
(3Ter).
: (c)‘_' Discuss the role of IRDA as a regulator of the insurancs

sector.

\

(d)  Discuss the structure of Mutual Funds in India.
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e ‘r_leat dd ydu m_ean by NBFC ? Explain theif activities
m the Indian ﬁﬁhnCial systém. : i
: ;(b) Deécribel.th‘e .term ‘Merc'hant .Baﬁking’ and discuss their
e lpost- and pré issue obllgmons 8
(;ﬁ)lNBFc q e B S ¥ 2 sm?ﬁa f‘a?ﬁw
_'-asrﬁ‘sqaﬁwﬁrﬁfmﬁwavhﬁﬁﬁl
-(a_)nﬁ?ﬁmwwavhaﬁfﬁammaé
_',_ma:ﬂ%aﬁaﬂ'{%‘@aﬁa‘?aﬂm.
P %ﬁﬁml
e
| ':(c)-'_ -.leite‘: an '0\-/_¢r\"ﬂie\.~‘df the' ﬁna'ncial» sei'yice industry i,n_
“India. © b .. ':. i 7
(d)‘ . Briefly disc'uss thé “term ‘_Léasing’ and explain 'th'é
'.'c'lifférent type of.‘ leasing contracts. 3 8

(mwﬁfaﬁawmm}mm'
(%) Leasing W hl. Eﬂﬁ amsi‘r IR WY E'T iy
ﬁrﬁmmaﬁ”ﬂﬁﬂ (lumn )Wﬂ"l’-—@ﬁﬁlaﬂﬁal

P.T.O.

Scanned with CamScanner



( L b i ‘ 7774';;;
S Write s'hér’t notes on any'.-'/wo‘ of 'the. following : 15
% '(a) '\./ent._u‘reCapilal Finan.cc | .
() ‘Faétpring Services :
(¢)  Offer for Sale
' (d)‘ Portfoho Mananement Serv1ces 4
reafan § @ B @ S w® @ ﬁru:rﬁrrm feafe .
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